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1 ��

��	���� 
 
1.1 ����������� ������  
4-11 
 
1.1.1 	��!��, $�"8��. $�2 � ����������� ������3�  ���#��1 �� ������" 1.1, $1 �%�"� 

$ 0�%�3�!������0 ��� ��", ������+"0 �# $"�/�". ( �#.19) � ��9�". ( �#.17) ��18"�, !���-
$1/ $���$�� ( �#.18), �$"%�-�$�6+�/ $1���� ��� ���,  "�"2�". ( �#.11) � #�2�". ( �#.6)  �-
�"%".. �� $����"��".  �$"�/����� ��9�". ��18�� #���" %"�� 8����, �� ������0 ��� �%�-
9"��  %��� $1����$�%����3� ���%��"%� ( �#.1), ����$��. ��%�$�. �����:��0���� ( �#.9), 
��%�$�. �����:��0���� $1����$�%����3� ���%��"%� ( �#.2) � $1/�2��. $1����$�%���1. 
�����:��0���� ( �#.5). 

�� $����"��".  �$"�/����� $"�/�". ��18�� ���9" #���" %"�� 8����, �� ������0 ���-
 �%�9"�� !�#�$��  %��� ��%�!������, ��"2���6+���� � ����$�10 ��%�$10 �����:��0���-
��0 � $1����$�%���10 ���%��"%"0 �  �0�+�6 3�!��/ 93���$ � 8�1�"$1/ ��#;"0�$.  

�  "�"2�".  ��"%� ��" ����  %��� ��2������ ( �#.10), �� ������. ��� �%�9"�1 ��2�-
����� ( �#.16), �%�$������ ( �#.15) � ��2�$1.  "�"�%6-��"%� ( �#.13). �1/�2�1" �%"001 
( �#.12) ��� �%�9"�1 ��  "�"2�".  ��"%� � ��"2��"�1 � !�#�$�.  %���. ��9"$10� ������-
��0�. ��  "�"2�".  ��"%� ��� �%�9"� $1�%6-��"%�  ������ ( �#.14). 

�� #�2�".  ��"%�  ��� �%�9"�1: $"���%���� ( �#.4), ��#;"0 ���"�:".�� ( �#.7), �"�"$�. 
��#;"0 �  �"2�/�����"%"0 ( �#.8). 

1.1.2 ��� ��  ��!��� ���" %�"��� -"�1��0� $����0�, ������$%�$�"010� �� ������1 
$"�/�". ��18��. 7�2��� �  "�"2���  ��"%� ��%�21$�6��� $  �#1 ��18"�. �%� ��#2���� ��-
�%���  �� ��!��" �� �%�#�"��� ��%�21$�6+�"�� ��9��. 

1.1.3 � �����" ��3���$ � ��$%"��� � ��2������  ��$"2"�� $ ��#2"%" 10 
�)��.411115.001 �
 (-���� 1 ������+"3� ����$�2��$�  � ,�� %�������). 

 
1.2 ����������� ��!��� "�# �!$� %
�-50 
 
1.2.1 	�"�!��#�$��"%� �� ��9"��� $ ��� 	��-50 $1 �%�"� $ ��� ��", ���%�3�-��0 

��� ���  ��!��� �4-11. �� $����"��".  �$"�/����� ��9�". ��18�� #���" %"�� 8����, �� 
������0 ��� �%�9"�� "2����$"����  %���  �"�!��#�$��"%� ( �#.4). 

��  "�"2�".  ��"%� ( �#.6) ��� �%�9"�1 $1/�2�1" �%"001 ( �#.8) � $1/�2��. ��#;"0  
( �#.9). �#����� � �".  ����" %"� ����$1. 8��� ( �#.5). �%� �!"� "-"��� %�-8"3� �/%�9-
2"��� !%��� $  "�"2�".  ��"%� �2"%��1 $"���%������1" ��$"����� ( �#.7). ��� �� � ��$%"-
��� � "2���-�1" �$"��2��2�1" ��2������1 ( �#.10) ��� �%�9"�1 �� !�#�$�.  %��" � $1/�-
2�� $ "�"2 -"�"# ��$"����� $  "�"2�".  ��"%�. 

�� #�2�".  ��"%� ( �#.2) ��� �%�9"�1 $"���%���� ( �#.3) � �0 �%���1. !%��  ������ 
( �#.1). �� �%���"%��� !%��  ������ � ���"��� ��  %���� ( �#.11), � ������. ��  ������� 
 %���0����$10 /�0���0. 
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2 �%�
�
�� &������'�
��( %��
��%����
�( 
(�)  %������ 
 
2.1 ��*�! �� " ��� 
 
2.1.1 ��#��-"��" ��#2"%� - 2��� �"�!/�2�01" �$"2"���  ���"!��"%6 2%� �#�-"���  ��-

!��� � �"%�6  ��$�%���. ,�� %�������, �  �� �"�!/�2�0����, � 2%� �"0����. 
 
2.2 ���� ��! +$!����,!���- �������� $.��- �/!01 � $��� ���  
 
2.2.1 �/"0� ,%"����-"����  ����� ��%���� ��%�!������ ���$"���%���3� �4-11  ��$"-

2"�� �� ������" �.1  ��%�9"��� �,  "�"-"�� ,%"0"���$ – $ ��!%��" �.1, ��#0"+"��" :���-
�����%��1/ �#%�$ – �� ������" 1.1. 

2.2.2 �/"0� ��%�!������ �4-11  ���#1$�"� ��"2��"���  %��,  �"2���$%�6+�/ #����-
-"��1" :��������%��1" �#%1, 0"92� ��!�.. �� �/"0" �#�!��9"�1 ,%"0"��1, ��� �%�9"�-
�1" �� 8���� (�����:��0����1 T1-T3), ��  "�"2�".  ��"%� ( %��� ��2������ A3, �%"001 
X16-X19 � $1�%6-��"%� S1) � �� #�2�".  ��"%� ($"���%����  ��������3� ���� M1, �"�"$�. 
��#;"0 X1 �  �"2�/�����"%� F1).  

 
2.3 ���� ��! +$!����,!���- �������� $.��- �/!01 �$ �1 ��2�� ��� 
 
2.3.1 �/"0� ,%"����-"����  ����� ��%����  %��1 ��2������  ��$"2"�� �� �����- 

�" *.1  ��%�9"��� *,  %�� ��#0"+"��� ,%"0"���$ – �� ������" *.2,  "�"-"�� ,%"0"���$ – $ 
��!%��" *.1. 

2.3.2 � �/"0�  %��1 ��2������ $/�2��: 
- �2��������%��1. 0����������%%"� (D8), ��2"�9�+�. $  �0���  ��3��00� ��!��1 

��%�!������. 	��$�%���6 ��!��� 0����������%%"��  �� $�%6-"��� � $1�%6-"���  ������ 
�!"� "-�$�"� 0�����/"0� D9, #� ����6+��  ��3��00�  �� 2����9"��� �� ��9"��"0  ���-
��� ���$�� 4.65 � � ������$%�$�6+�� ""  ��  �2"��� �� ��9"��� ��9" 4.5 �; 

- �%�$������, ��3���#�$����� $ $�2" 0�����1 4 �� 8 ��� �� (S1…S32). �-��1$���" � 
$1-��%"��" ��2� ��9���. ��� �� $1 �%��"���  ��3��00��; 

- ��0$�%��1. -"�1�"/����-�1. ��2�������1. 0�2�%� �1, $�%6-�6+�. �/"0� � ��$-
%"��� ���. � ��$%"��" ��2�������10 0�2�%"0 ���+"��$%�"��� #� ���6 ��0��2  �#����-
����$���� ������� � ASCII-��2� ���!��9�"01/ ��0$�%�$. )�2�%� ��2"�9�� �$"��2��2��6 
 ��"%�  �2�$"���, �!"� "-�$�6+�6 $�2�0���� �#�!��9"���  �� %6!�0 ��$"+"���. ������-
������� �#�!��9"��� �"3�%���"��� �"#������0 R27; 

- ���"�:".� RS-232C (V3…V6), �#�%���$���1. �� �/"01 ��%�!������ � �����0� D4, 
D5. �/"0� ���"�:".��  ���"��� �� $1 ��0��"%". �������"%���3� (V5, C11) �  �%�9��"%���-
3� (V6, C10) �� ��9"���,  �%�-�"0�3� �# ���$�". ��3��%�$ «RXD» � «DTR», «RTS»,  ����-
 �6+�/  ��  �2�%6-"���  ��!��� � ���"�:".��  "�����%���3� ��0 �6�"��; 

- ���%��"%� ��#��. -�����1 (D6) #$���$�. ��3��%�#���� �� 3��0��3�$����"%" B1; 
- ���3�$�. ��2�$1.  "�"�%6-��"%� A1 2%�  %�$��3� �"3�%���$���� $1/�2��3� �� ��-

9"���. ��2�$1.  "�"�%6-��"%�  �� $��+"��� �  �0�+�6 ��������$, #�01��6+�/�� �� �!-
+�.  ��$�2, 3"�"����"� �0 �%��1, �2$����1"  � :�#"  (�� 90º), �����1"  ��3��00�� �!��-
!��1$�6��� 0����������%%"��0; 

- �/"0�  "�"�%6-"��� (D3) �� ��$%"���  "�"2�-� 2���1/ (���"�:".� �%� !�#�$��  %�-
��). 

	���"��� �/"0�  %��1 ��2������ �� ��!��$"���3� �0 �%����3� ���!�%�#����� D1 ��-
 ��9"��"0  +5 �. 	�%�-"��" �������"%���3� �� ��9"��� �0"+"��� ��2������� �!"� "-�$�-
"�  �"�!��#�$��"%� �� ��00�����"01/ ���2"�������/ D7, �� $1/�2" ������3� :��0���"��� 
�� ��9"��" 0���� 5 �. 

2.3.3 *�%�8�6 -���� $�"0"�� 0����������%%"�  ��$�2�� $ �"9�0" �9�2���� ��!1��., 
����/ ���: ��9���" ��� ��,   ��"0 ��0$�%� �# ���"�:".��, $��+"��" ��-�� �"2������$���� 
$1/�2�. 	��%" �!��!���� $$"2"��1/ 2���1/, �2��0 �# ���#���1/ � ���!�$,  ����/�2�� #�-
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 ��� ��$1/ 2���1/ $ ��2������. 	"�"2�-� � ��$%�6+"3� ���!+"��� $ ���%�3�$1. !%�� 
(0����������%%"��0 !�#�$�.  %��1)  ���#$�2���� $ :��0��" �"����$�. ������ (�0. ��!%�- 
�� 2.1). ��0��21  �2�6��� �2��$�"0"��� �� �!� 0����������%%"��, ��921. �# �����1/ $1-
!���"� �$��. <����-"��� ��%��� ��0��2� ������$�� �"9�0� 0��� �%���� («M0» - «M5») 
 �"2��#��-"�� 2%� 0����������%%"�� 0�2�%�����, � $�" ����%��1" ����!��1$�6��� ��00�-
�������10 0����������%%"��0. 	���0"��1 ��3��%� ����" 9", ��� � ���"�:".�� RS-232C, #� 
���%6-"��"0 ���$�". ��3��%�$ (0 - 5 �). 	�� �"�!/�2�0���� �� ��$%"��� ���!+"��� $ ��-
�"�:".� �#0"�"��"0 ���$�� �� %���� «PB1»  ����/�2��  "�"�%6-"��" �� ��$%"���  "�"2�-
-�. �� ��$%"��"  ��"0�  "�"�%6-�"��� �#0"�"��"0 ���$�� �� %���� «PD4». ��������  "�"-
2�-� ����2������ � �����$%�"� 9.6 �!�2. 

2.3.4 � :�����6 0����������%%"�� ���9" $/�2�� �"�%�#���� $�"/ �%3����0�$ ��:��-
$�. ��%�!��$�� ���  �� ������$�" $1/�2��3�  ���0"���, ��� �  �� ��%�!��$�"  ��!���. 7��-
-"��" ��2� #�3��#�� 
�	 $1/�2��3� ���$��,  "�"2�$�"0�" $ ���%�3�$1. !%��, $1-��%�"��� � 
�-"��0 $�"/  � ��$��, 2".��$�6+�/  �� �"��+�/ �0 %���2" � -�����". 7�2����" #��-"��" 
������$%�$�"0�. -�����1  "�"2�"��� $ ���%�3�$1. !%��  ��%" ����3%"��� � ���%6-"��� �"-
�"�%�#�"01/ #��-"��. �%� #� �"+"��1/ ��0!�����.. 5%�$�1. 0����������%%"� � �"2"%�"� 
� ������$%�$�"�  �"2"%1 � �"9�01 $�� ���#$"2"���, ��������" $1/�2�,  �2�$�� ����$"���-
$�6+�" ��0��21 $ ���%�3�$1. !%��. 

2.3.5 
%"����-"���  "�" ��3��00���"0��  �0���, /����+�� #��-"��� ��%�!��$�-�1/ 
��������, ��� �%�9"�� �� ������%%" 0����������%%"��. ��%�!��$�-�1" 2���1" ��3���#�$�-
�1 $ $�2" 2$�/ 2�!%���6+�/ !%���$ ��������. 

2.3.6 	"���2�-"��� (� -������. 2 5�)  ����/�2�� #� ��� ��������� ���%�3�$�3� !%��� 
(��0��2�. «P»). ��0��21 #� ���� �%"2�6� �  "���2�-�����6 20 0� 2�  �%�-"��� %6!�3� 
��$"��. �%��"%������  ��"�� ��0��2 #� ���� ��������� 0�9"� 2����3��� 0.5 �. ��%� ��3��% 
��������� �"  ��$%�"��� !�%"" 1 �, �-���"���, -�� ���%�3�$1. !%�� �"�� ��$"� � �� ��2���-
��� $1$�2���� ���!+"��" «Waiting AB» («�9�2�6 ���%�3�$1. !%��»). 	�� �������$��  "�"-
3��#�� 0����������%%"� (��00��������1.) ���%�3�$�3� !%��� $�#$��+�"� ��0��2� «Q». 
��%� �!����9"��  "�"3��#�� �2��3� �# $1/�2�1/ �����2�$, �� $�#$��+�"��� ��0��2�  «W». 
	"�"2�-� ��0��2 $ ���%�3�$1. !%��  ����/�2�� ��%���  �� ��%�-�� ��3��%� ��������� �# 
���%�3�$�3� !%���. �"����� ���%�3�$�3� !%��� ��  "�"3��#�� #�$���� �� �"9�0� ��!��1. 	�� 
$�#�����$"���  "�"3��#�� $ �"9�0" $�� ���#$"2"��� �� ��9"��� 0����������%%"� ���%6-
-�"� $1/�2 ��0������"%���, ���!+�� � $�#���8". �������� 3%�$��0�  ���"�����, �����1., 
$ �$�6 �-"�"2�, ��%���  �2�$"�92�"� ���%6-"��" $1/�2�. � �"9�0" $�� ���#$"2"��� ���� 
0����������%%"� ���%�3�$�3� !%��� ��0������"%��� �" ���%6-�"� $1/�2, � ��%��� ���!+�"� 
� ��������� $1/�2��3� �����2�. 
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��!%��� 2.1 – ��0��21,  �2�$�"01" $ ���%�3�$1. !%��  
 

��0��21 � ��$%"��� ���%�3�$10 !%���0 
7�3�-
%�$�� 

����1" ��#2"%�-
�"%� 

��#��-"��" 	��0"� 

+ &&&&& {$�}{ �} 7��-"��" ��2� 
�	 ������$�� $1/�2��3� 
���$��  ��  �%�9��"%���.  �%�������. 
��� �#�� 0������1 �� 0 2� 65535 

+12345 {$�}{ �} 
(12345 0%.�.) 

- &&&&& {$�}{ �} 7��-"��" ��2� 
�	 ������$�� $1/�2��3� 
���$��  �� �������"%���.  �%������� 

-23456 {$�}{ �} 
(23456 0%.�.) 

H &&&&&
& 

{$�}{ �} ������� $ 2"���1/ 2�%�/ 3"���. �010000 {$�}{ �} 
(1000 5�) 

0 	�"2"% 0.2 �,  ��������" �� ��9"��" R0 {$�}{ �} 
1 	�"2"% 2 �,  ��������" �� ��9"��" R1 {$�}{ �} 
2 	�"2"% 20 �,  ��������" �� ��9"��" R2 {$�}{ �} 
3 	�"2"% 200 �,  ��������" �� ��9"��" R3 {$�}{ �} 
4 	�"2"% 600 �,  ��������" �� ��9"��" R4 {$�}{ �} 
5 	�"2"% 20 0�,  �������1. ��� R5 {$�}{ �} 
6 	�"2"% 200 0�,  �������1. ��� R6 {$�}{ �} 
7 	�"2"% 2000 0�,  �������1. ��� R7 {$�}{ �} 
8 	�"2"% 0.2 �,  "�"0"���" �� ��9"��" R8 {$�}{ �} 
9 	�"2"% 2 �,  "�"0"���" �� ��9"��" R9 {$�}{ �} 

10 	�"2"% 20 �,  "�"0"���" �� ��9"��" R10 {$�}{ �} 
11 	�"2"% 200 �,  "�"0"���" �� ��9"��" R11 {$�}{ �} 
12 	�"2"% 600 �,  "�"0"���" �� ��9"��" R12 {$�}{ �} 
13 	�"2"% 20 0�,  "�"0"��1. ��� R13 {$�}{ �} 
14 	�"2"% 200 0�,  "�"0"��1. ��� R14 {$�}{ �} 

R 

15 

{$�}{ �} 

	�"2"% 2000 0�,  "�"0"��1. ���  R15 {$�}{ �} 
0 �"� 0��� �%���� M0 {$�}{ �} 
1 )��� �%���� ��00"���-��� 8 5� M1 {$�}{ �} 
2 )��� �%���� ��00"���-��� 12 5� M2 {$�}{ �} 
3 ��2�-�0 �%�����  ��%"2�$��"%������ «7» M3 {$�}{ �} 
4 ��2�-�0 �%�����  ��%"2�$��"%������ «�» M4 {$�}{ �} 

M 

5 

{$�}{ �} 

��2�-�0 �%�����  ��%"2�$��"%������ 
«��» 

M5 {$�}{ �} 

0 �1�%6-��� $1/�2 S0 {$�}{ �} 
1 ��%6-��� $1/�2 $ ���0�%���0 �"9�0" S1 {$�}{ �} 

S 

2 

{$�}{ �} 

��%6-��� $1/�2 $ �"9�0" 0��� �%���� S2 {$�}{ �} 
P - {$�}{ �} 7� ��� ��������� Z {$�}{ �} 

 
	��0"-���" - {$�}{ �} - ��0$�%1 $�#$���� ���"��� («0Dh») �  "�"$�2� ������ («0Ah») 
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2.4 ���� ��! +$!����,!���- �������� $.��- �/!01 �$ �1 � "�#�- 
 
2.4.1 �/"0� ,%"����-"����  ����� ��%����  %��1 !�#�$�.  ��$"2"�� �� ������" �.1 

 ��%�9"��� �,  %�� ��#0"+"��� ,%"0"���$ – �� ������" �.2,  "�"-"�� ,%"0"���$ – $ ��!%�-
�" �.1. 

2.4.2 ��" :��������%��1" ���%�3�$1" �#%1  ��!���, �!"� "-�$�6+�" $�� ���#$"2"-
��" �� ��9"��� 2� 20 �, ��� �%�9"�1 �� !�#�$�.  %��": 

- ��00��������1. 0����������%%"� D1,  ����0�6+�. � ��$%�6+�" ��3��%1 �  %��1 
��2������,  �"�!��#�6+�. �/ $ ��21 � ��$%"��� �"%", ���%�3�$1/ �%6-". � 
�	 -�����1 
� �0 %���21; 

- 2� �%���"%��1.  ��� � ��$%"��� �� �2$�3�$�0 �"3����" D2; 
- :��0���$��"%� �� ��9"��� (D3...D11) 2%� � ��$%"���  �%���#�$���10� (2$�/ �#�-

�����10�) �"%" (�1…�9) – ���%��"%� �  ����$�:�#�10 $1/�2�0, ��3���#�$���1" $ $�2" 
�" �%��. 0�����1 $ ��� ���%!�� �� -"�1�" ������ � �!"� "-�$�6+�"  �2�-� �� �!0���� 
�"%" �������/ (20 0�) 2$�/ �%���1/ �0 �%���$; 

- ����"#���� -�����1 D14 � 2�� �#���0 9 5� – 33 �5�. �1/�2��. ��3��% ����"#����� 
:��0���"��� �� �"#������/ R30, R31 �, ���0" ����$��. 3��0�����, ��2"�9�� $1����-�����-
�1" � ��0!��������1" �����$%�6+�". �%� :�%�������  ��%"2��/  ��0"�"� LC-:�%��� $1-
����3�  ���2�� (L1, L2, L4, L5). �  �0�+�6 2�::"�"����%���3� ���%��"%� D17  ���:�#�1. 
��3��%  �"�!��#�"��� $ �2��:�#�1.; 

- ���%�3�$1.  "�"0��9��"%� D19 2%� �"3�%���$���� �0 %���21  "�"0"���3� �� ��-
9"���. �� �%���"%��� ��3��% �"3�%���$���� �0 %���21  �2�"��� �� $/�2 ������$�� � ��-
��3� ���� ����"#����� -"�"# �"#����� R28. ����"����  ��������. �����$%�6+". �� $/�2" 
#�2�6+"3� 3"�"������ ���+"��$%�"��� ���%��"%"0 D24, $1/�2��. ��3��% ������3� $�#2".��-
$�"� �� $/�2 �"3�%���$���� �0"+"��� ���%�3�$�3�  "�"0��9��"%�; 

- 8"����2������#��2�1. 2$�/ �%���1. 
�	 � ����3� �� ��9"���, #�2�6+�. $1/�2-
��. ���$"��; 

- �� ��9"��" �!�����. �$�#�,  ���� �6+"" �� $/�2 ����"01 �$���"3�%���$���� (��3-
��% «OC»),  �� $�� ���#$"2"���  ��������3� ����  �2�"��� �" ���"2��$"��� �� $/�2 ���%�-
�"%� �!�����. �$�#� �%� -"�"# 2$�/ �%� "���2�1. �#0"���"%��1. $1 ��0��"%� (D30, D31); 

- ����"0� � �"2"%"��� ���������  "�"3��#�� (D34) :��0���"� ��3��%1 ��#��3� ���$��, 
 �2�$�"01" �� $/�2 ��00���������3� 0����������%%"��,  ��  �"$18"��� ���$��  ±10 � �� 
$1/�2" ���%��"%� �8�!�� �%� �� $1/�2" ���%��"%� ����; 

- $1/�2��. ���%��"%�  �"2"%�$ «0.2 V», «2 V» � «20 V» (D43, V19, V20); 
- ���%��"%� ����  �"2"%�$ «20 m�», «200 m�» � «2000 m�» (D48, D49, V34, V35); 
- !%��  ������, �0"6+�. ���!�%�#���$���1" (±15 �, +15 �) � �"���!�%�#���$���1" 

$1/�21 (±6 �); 
- �/"0� :��0���$���� ��3��%�$ �!�����. �$�#�, ��2"�9�+�� ���%��"%� � 2"%��"%� ��-

 ��9"���,  ��$�2�+�" ���!�%�#���"01. ���$"�� � ��0���%���. 8��%" (���%� 6 �); 
- 0�2�%����, $�%6-"��1. $ �" � $1/�2��3� ��3��%�  ��������3� �%�  "�"0"���3� ���� 

� ������+�. �# � ��$%�6+"3� 0����������%%"�� � 
�	, � ��$%�"0�3�  � #�2����.  ��-
3��00". 

2.4.3 ��00��������1. 0����������%%"� ���%�3�$�3� !%���  ����0�"� � 2"��2���"� 
��0��21 3%�$��3�  ���"�����. 	��%" �!��!���� ��0��2  ���"���� #�3��9�"� ����$"���$�6-
+�" #��-"��� ��2�$ $ 
�	 $1/�2��3� ���$��, ��:��$�. ����"#���� � #�01��"� (��#01��"�) 
�"�!/�2�01" �������1 �"%". 	��-"0, �� $1 �%��"� ����!���� � ���1/ ��������. ($�%6-"-
��" � ���%6-"��" $1����3� �� ��9"���), �!"� "-�$�� �"�!/�2�01" #�2"�9�� � �����" ��-
 ��9"��� � ��������$ �"%" $ 0�0"�� ��00������. 
��� 0����������%%"� �!"� "-�$�"� ��$"� 
�� #� ��� 3%�$��. 
�) � ��������� ���%�3�$�3� !%���. 

2.4.4 ��" �"%", ������$%"��1" $ �/"0" !�#�$�.  %��1, ��������� � �%����  �%���#�$��-
�1/ (2$�/ �#������1/). �%� �/ � ��$%"��� 0����������%%"� :��0���"� �� �!0���" �����-
��" �0 �%��1: �2��.  �%������� 2%� $�%6-"��� � 2��3�. - 2%� $1�%6-"���. � �����-"���0 
��������� �!0���� �!"���-"�1 � $ $1�%6-"���0  ��!��" ����6��� $  �%�9"���, ������" 
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!1%� $ 0�0"�� $1�%6-"���. �� !�#�$�.  %��" ��� �%�9"�1 �%6-� � ��$%"��� �"%" $1����-
$�%����3� ���%��"%� (D58). 

2.4.5 
�	 � ����3� �� ��9"��� $1 �%�"� ��  ����� " 8������-�0 �%����. 0�2�%�-
��� (= �)). = �) :��0���"��� �# ��0!������ 2$�/ ��3��%�$ (0"��2��), $12�$�"01/ $���-
�"���0 ��.0"��0 0����������%%"�� (,�� ��3��%1 «CHA» � «CHB») � �2$����1/  � :�#" �� 
#��-"��" #�3��9"���3� ��2�. �1/�2��" �� ��9"��" 
�	 0�9"� �"3�%���$����� $  �"2"%�/  
�� 0���� 3 � ( �� #��-"��� ��2� #�3��#�� «+65535») 2� +3 � (����$"���$�"� ��2� #�3��#��  
«-65535»). 	"�"�%6-"��"  �%������� ���+"��$%�"��� ��3��%�0 «PPWM»,  �2 2".��$�"0 ��-
����3� �#0"��"���  �%������� � ����3� �� ��9"���,  �2�$�"0�3� �� 0�2�%���� = �). )��-
���/"01 D29, D32, ��2"�9�+�"  � ���  ��1 ���%�3�$1/ �%6-"., $1 �%��6� �" ��%���  "�"-
�%6-"��" ���%�3�$1/ ��3��%�$, �� � :������ %�3�-"���/ ��$"�����$ � ���%6-�6+"3� 
���. �1/�2��" �� ��9"��" = �)-
�	 :��0���"��� �� $"�/�"0 ( � �/"0") $1$�2" �"#�-
����� R62. �3� �0 %���2� (���%� 3 �) � �"2"%�"��� $1/�2�10 �� ��9"��"0 ���"3��%���3� 
� ����3� ����-���� D37. � "�������1. ���%��"%� D35 �!"� "-�$�"�  �22"�9���"  ��"�-
���%� $�����%���. «#"0%�» � ����3� ����-����, �����1.  ��  �%�9��"%���.  �%������� 
$1/�2�1/ �0 �%���$ ������$%�$�"��� ��$�10 ��%6, �  �� �������"%���. – 0���� 3 �. ���-
���� = �) ��$�� 168.75 5�. <�%������� �0 �%���$ = �) ���+"��$%�"��� �"0 9" :�%����0 
(D36), �����1.  �"2��#��-"� 2%� :�%������� $1 ��0%"���3�  "�"0"���3� �� ��9"���, 
���9" ���%��"%"0 �!�����. �$�#� (D38), �$%�6+�0�� ���"3������0. 

2.4.6 )�2�%������1. 0����������%%"� ���%�3�$�3� !%���  ����0�"� � 2"��2���"� 
��0��21 3%�$��3�  ���"�����, ������$%�$�6+�" �"9�0 �0 %���2��. 0��� �%����. � ���-
0�%���0 �"9�0" ��!��1  ��!��� � $ �"9�0" «M0» 0���� ���"����  �2�"� �� 
�	 ��2 
«4095» (2$��-�1. – «111111111111»), �!"� "-�$�6+�.  "�"2�-� ��3��%�  ��������3� �%� 
 "�"0"���3� ���� -"�"# 0�2�%���� !"# ��%�!%"���. 	�� ������$�" �"9�0�$ «M1» - «M5» ��-
,::���"��  "�"2�-� 
�	  � #�2����.  ��3��00" �#0"��"��� �� 0����0�%���3� � 0���-
0�%���0� ($ ��������"  ��#1 � ��2�0 «0000») � �!����� ($ ��������" �0 �%���). 	"�"/�2 �� 
0����0�%���3� ��2� � 0���0�%���0� (� �!�����) ���+"��$%�"���  %�$�� $ �"-"��" 70 0��  � 
�3�!�6+". �������� ( �%�$���  "���2� �������� � -������. 7.2 �5�) . 	�� ,��0 0�������-
���%%"� $�� ���#$�2�� 30  ��0"9���-�1/ #��-"��. ��2�, �" �-���� ��-�%���3� � ���"-��3�. 

2.4.7 �1/�2��. ���%��"%� ��#��$�%���1/  �"2"%�$  �����"� �� $1����$�%����0 � "-
��������0 ���%��"%" D43, 2� �%�"���0  �$�����"%"0 �� ��9"��� ��  �%"$1/ ����#������/ 
V19, V20. ������$�� ��-�%���3� ���� $1/�2��3� �����2�  ���#$�2���� �  �0�+�6 2$�/  �-
��%%"%��1/ ���!�%�#�����$ �� ��9"��� D45, D46,  ���"01/ 2$�0� ���!�%�#�����0� ���� 
(���%� 2 0�) V9, V13 � V12, V14. 	�� ��!��" ��  �"2"%�/ «0.2 V» � «2 V»  �����" ���%��"-
%� �����$%�"� ���%� ±13.3 �. 	�� ������$�"  �"2"%� «20 V» $�%6-�"��� «����-�$�6+�.» 
���2"�������1.  �"�!��#�$��"%� D44,  �$18�6+�. �� ��9"��"  ������ 2� ±(40 – 42) �. 
�"#������0� R95 � R97 ������$%�$�"��� ��-�%���" �0"+"��",  �� ������0 ��-�%��1. ��� 
$1/�2�1/ ����#������$ ��/�2���� $  �"2"%�/ �� 7 2� 10 0� ( �  �2"��6 �� ��9"��� �� �"-
#������/ R105 � R108). 	�� ,��0 2�%9�� �!"� "-�$����� 0���0�%���" �� ��9"��" �� �"#�-
����" R102 – ,�� ��%�$�" ��00"�����$����. 	�2����"-�10 ���2"�������0 C71 ������$%�$�-
"��� � ��0�%���� -�������� /�����"������� ���%��"%� ( � ����"���0 ����.-�$���� � ��$��-
0"������ ��&). 	�2����"-�10 �"#������0 R87 �"3�%���"��� �0"+"��" ���%��"%�. 

2.4.8 	�� $�� ���#$"2"��� ���� $1!��  �"2"%� ���+"��$%�"��� �#0"�"��"0 �� ����$-
%"��� ����$�3� 8���� (R126 – R128). 7��-"��"  �2"��� �� ��9"��� �� ����$�0 8���"  � 
����8"��6 � $/�2��0� �� ��9"��6 ������$%�$�"��� $ ����$"���$�� � ������8"��"0 ��0�-
��%�$ �"#������$ R111 � R112. �"#�����1 R112…R115 2�%9�1 !1�� �2�����$�3� ��0���%�, 
-��!1 �!"� "-��� �"#�$���0���� $1/�2��3� ���� �� �� ��9"��� �� ��3��#�" ( ��"����%" �� 
����$�0 8���"). ��-��� ������.�� 0���� �!"� "-�$�"��� �"#������0 R116, � �"�#0"������  
!�%������$��  ��  "�"�%6-"���  �"2"%�$ - �"#������0� R129 � R130. �1/�2��. �����2 
���%��"%� ���� ���9" ��2"�9��  �$�����"%� �� ��9"��� ��  �%"$1/ ����#������/ V32, V33, 
 ���%%"%��1" ���!�%�#����1 �0"+"��� D53, D54 � ���!�%�#����1 ���� V32,V33. �"#������-
0� R119 � R121 ������$%�$�"��� ��-�%���" �0"+"��",  �� ������0 ��-�%��1. ��� $1/�2-
�1/ ����#������$ ��/�2���� $  �"2"%�/ �� 50 2� 100 0� ( � ����  ���"!%"��� �� ��%�$�3� 



 
 

 

11 

 
 

�����:��0�����). 	�� ,��0 2�%9�� �!"� "-�$����� 0���0�%���" �� ��9"��" �� �"#�����" 
R124 – ,�� ��%�$�" ��00"�����$����. 	�����"-�10 ���2"�������0 C96 ������$%�$�"��� � -
��0�%���� -�������� /�����"������� ���%��"%� ( � ����"���0 ����.-�$���� � ��$��0"���-
��� ��&). 

2.4.9 �/"0� :��0���$���� (���0���$����) ��3��%�$ �!�����. �$�#�, ��2"�9��: 
- ���%��"%� ��3��%� �!�����. �$�#�  �"2"%�$ «0.2 V» � «2 V» �� � "��������0 ���%�-

�"%" D56, ��,::���"�� ���%"��� (� = 3 �%� 30) ������3�  "�"�%6-�"��� ���%�3�$10 �%6-�0 
D55. �"3�%���$�� �0"+"��� �� ,��/  �"2"%�/  ���#$�2����  "�"0"��10 �"#������0 R147. 
����"���� -�������. /�����"������� ���%��"%�  ���#$�2���� �" �-��0� R146, C107 ( ��  
� = 3) � R136, C105 ( �� � = 30); 

- 2"%��"%� �� ��9"��� R151, R152, R154 �!"� "-�$�"� 0��8��!���$���" ��3��%� �� 
 �"2"%�/ «20 V» � «200 V» («150 V»  "�"0"���3� ����). 	�2����"-�10� ���2"�������0� 
C108 � C111 �"3�%���"��� -�������� /�����"������� 2"%��"%". �� ,��/  �"2"%�/; 

- 2"%��"%� R155, R156 ���+"��$%�"� 0��8��!���$���" ��3��%� �!�����. ��  �"2"%" 
«600 V». 	�2����"-�10 ���2"�������0 C116 �"3�%���"��� -�������� /�����"������� 2"%�-
�"%�; 

- ��3��%1 �!�����. �$�#� �� $�"/ ����-����$ ��!���6��� 0�%��� %"�����0 D61 �  �-
2�6��� �� $/�2 ���%��"%� �!�����. �$�#�. ��3��%1  �� $1�����0�1/ ����-����$ 2� �%��-
�"%��� !�:"����6��� (D59, D60, D62), -��!1 ���%6-��� $%����" ,%"������1/ �%6-". �� 
��,::���"��  "�"2�-� � -�������6 /�����"�������. 

���!�%�#���� $1/�2��3� �� ��9"��� ���+"��$%�"��� �� $1/�2�1/ ��������/ ��#;"0�$ 
(X5 � X6)  ���"2��$�0 �$"2"��� $ ��-�� $1/�2�$ ��#��$�%���3� (-"�"# �������1 �"%" K5) � 
$1����$�%����3� ���%��"%". (-"�"# �������1 �"%" K6) � $/�2� �/"01 �!�����. �$�#�. �"%�-
�"%� �!�����. �$�#�  �2�%6-�6��� � $1/�2��. �%"00" �  �0�+�6 ��������$ �"%" K4 (�� 
 �"2"%�/ «0.2 �» � «2 �»), K9 (��  �"2"%" «20 �»), K7(��  �"2"%" «200 �»). 

 
2.5 ���� ��! +$!����,!���- �������� $.��- �/!01  
                     �$ �1 #1����#�$.���3� ���$��!$� 
 
2.5.1 �/"0� ,%"����-"����  ����� ��%����  %��1 $1����$�%����3� ���%��"%�  ��$"-

2"�� �� ������" 5.1  ��%�9"��� 5,  %�� ��#0"+"��� ,%"0"���$ – �� ������" 5.2,  "�"-"�� 
,%"0"���$ – $ ��!%��" 5.1. 

2.5.2 ��  %��" $1����$�%����3� ���%��"%� ��� �%�9"�1:  
- ��!��$"��� $1����$�%���1. ���%��"%� - D1…D5, V1…V10; 
- $1 ��0��"%� V13 � ���!�%�#����  ������ $1����$�%����3� ���%��"%� ±280 � 

(V14…V23); 
- �"%" � ��$%"��� �"9�0�0� ���%��"%� (K1-K4); 
- � "���%���" �"%" K5  �"2���$%�"� ��!�. !"���������1. �"0������1. �%6-,  �"2��-

#��-"��1. 2%� $�%6-"��� ��%�$�3� �����:��0����� $1����$�%����3� ���%��"%�; 
- $1����$�%���1. $1 ��0��"%� V24 � ����$�1. :�%��� L4…L6, R54, C25…C27, D6. 
2.5.3 �/"0� � ��$%"��� �"%" $1����$�%����3� ���%��"%� ��� �%�9"�� �� !�#�$�.  %�-

�". �1����$�%���1. ���%��"%� $�%6-�"��� (��%�$�. �����:��0���� $�%6-�"��� �"%" K5) 
 �� $�� ���#$"2"��� �� ��9"��� �$18" 20 �. � ����%��1/ �%�-��/ "3� �/"0� �!"���-"��.  

2.5.4 �1/�2��. ���%��"%� $1 �%�"� 2$�/�����2�10 –  �$�����"%�-��$"���� D1 � $1-
����$�%���1. � "�������1. ���%��"%� D3. �0"+"��" $1����$�%����3� ���%��"%� ����"�-
����"��� � "�������10 ���%��"%"0 � 0�%10 �0"+"��"0 D2. 	�2����"-�10 ���2"�������0 
C4  ���#$�2���� ������.�� -�������. /�����"������� ���%��"%�. �1/�2��. �����2 ���%��"-
%�  �����"� ���%�3�-�� ��#��$�%����0� ���%��"%6 � ��. ��#���"., -�� $1/�2�1"  �%"$1" 
����#�����1 $�%6-"�1  ��%"2�$��"%��� 2%�  �$18"��� 2� ����"0�3� ��!�-"3� �� ��9"-
���. �� ��9"��" �� $1/�2�1/ ����#������/ $1��$��$�"��� �  �0�+�6 �"#����$�1/ 2"%��"-
%". R9, R10 � R11, R12. �"#������0� R14 � R16 ������$%�$�"��� ��-�%���" �0"+"��",  �� 
������0 ��-�%��1. ��� $1/�2�1/ ����#������$ ��/�2���� $  �"2"%�/ �� 5 2� 7 0� ( �  �2"-
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��6 �� ��9"��� �� �"#������/ R24 � R25). 	�� ,��0 2�%9�� �!"� "-�$����� 0���0�%���" 
�� ��9"��" �� �"#�����" R20 – ,�� ��%�$�" ��00"�����$����. 

2.5.5 ���!�%�#����1 �� ��9"���  ������ $1/�2��3� �����2� +280 � � 0���� 280 � 
�0"6� �2�����$�6 �/"0�. �/ $1/�2��" �� ��9"��" ������$%�$�"��� ����$"���$"��� �"#�-
�����0� R33 � R40. � ���!�%�#����"  �"2��0���"�� �3����-"��"  ���$�3� ���� ��3��#�� �� 
���$�" 200 0�. 

2.5.6 � ��#;"0� X3  �2�%6-�"���  �$18�6+�. $1����$�%���1. �����:��0����, ����-
�1. $ �"9�0"  "�"0"���3� �� ��9"���  "�"2�"� $1/�2��" �� ��9"��" ���%��"%� � ��,:-
:���"���0  "�"2�-� � = 4. �1/�2��. �����:��0����  �2�%6-���� � ���%��"%6 -"�"# ��#2"-
%��"%��1. ���2"������ C21, C22. 	�� $�� ���#$"2"���  ��������3� �� ��9"��� �$18"  
200 � ��  �$18�6+�. �����:��0����  �2�"��� �� ��9"��" � -������. 1 �5�, �0 %���2� ��-
����3� � �"2"%�"� #��-"��" $1/�2��3�  ��������3� �� ��9"���. 	"�"0"���" �� ��9"��" 
$1 ��0%�"��� � :�%����"��� ����$�10 :�%����0 $1����3�  ���2��. �%� �%�-8"��� 2���-
0�-"���/ �$�.��$ $1 ��0��"%� (�0"��8"��� $�"0"�� ������ �� ��9"���) �� 2� �%���"%��� 
��3��9"� �� !�%%����1. �"#����� R51, R52. 

2.5.7 �"9�01 �  �"2"%1 $1����$�%����3� ���%��"%�  "�"�%6-�6��� ��������0� �"%" 
K2...K4, ������$%�$�6+�" ���������: 

-  ��0�3�  ��/�92"��� $1/�2��3� �� ��9"��� ���%��"%� �� $1/�2  %��1,  ��0"��"-
0�3� ��  �"2"%�/ «200 V» ( ��������3� ����) � «150 V» ( "�"0"���3� ����): 

-  ��/�92"��� �� $1/�2  "�"0"���3� �� ��9"��� �  �$18�6+"3� �����:��0����� �� 
 �"2"%" «600 V»; 

- $1 ��0%"��� � :�%�������  "�"0"���3� �� ��9"��� �  �$18�6+"3� �����:��0���-
��  �� $�� ���#$"2"���  ��������3� �� ��9"��� ��  �"2"%" «600 V». 

�  �0�+�6 �"%" K1 $1!���"���  �%������� $1 ��0%"���3� �� ��9"��� ��  �"2"%"  
«600 V». 

 
2.6 ���� ��! +$!����,!���- �������� $.��- �/!01 ��!��� "�# �!$� %
�-50 
 
2.6.1 �/"0� ,%"����-"����  ����� ��%����  �"�!��#�$��"%� 	��-50  ��$"2"�� �� ��-

����" �.1  ��%�9"��� �,  "�"-"�� ,%"0"���$ – $ ��!%��" �.1, ��#0"+"��" :��������%��1/ 
�#%�$ – �� ������" 1.2. 

2.6.2 �/"0�  �"�!��#�$��"%� �����$%�6�: 
- �0 �%���1. !%��  ������ A2; 
- ����$1. 8��� A3, $/�2��. ��#;"0 X1 � $1/�2�1" �%"001 X13 � X14, ��� �%�9"��1" 

��  "�"2�".  ��"%�; 
- $"���%����, ��� �%�9"��1. �� #�2�".  ��"%�; 
-  %���  �"�!��#�$��"%� 	��-50 (A1), �� ������. ��#0"+"�1  �����-"��� $�" ����%�-

�1" ,%"0"��1 �/"01. 
2.6.3 �/"0� ,%"����-"����  ����� ��%����  %��1  �"�!��#�$��"%� 	��-50  ��$"2"�� 

�� ������" �.1  ��%�9"��� �,  %�� ��#0"+"��� ,%"0"���$ ��  %��"  �"�!��#�$��"%� – �� ��-
����" �.2,  "�"-"�� ,%"0"���$ – $ ��!%��" �.1. ��  %��"  �"�!��#�$��"%� 	��-50 ��#0"+"-
�1: 

- �/"0� ���%6-"��� $/�2� ��  �%���#�$���1/ �"%" K1, K2; 
- ���%��"%� �!�����. �$�#� D3; 
- 3"�"����� ��"�3�%���3� �� ��9"��� D1 � -������. ���%� 150 �5� (������$%�$�"��� 

�"#������0 R1); 
- ��0 ������ D4, :��0���6+�. ��3��% 8������-�0 �%����. 0�2�%����, 2%� ���$�"-

��� ��"�3�%���3� �� ��9"��� � ���%"��10 ��3��%�0 �!�����. �$�#�; 
- �/"0� �� %�3�-"���/ ,%"0"���/ D6 2%� :��0���$����  ����$�:�#�1/ � ��$%�6+�/ 

= �) ��3��%�$, �!"� "-�$�6+�/ #�2"�9�� $�%6-"���  �%"$1/ ����#������$ � �"%�6 ��-
�%6-"��� ��$�#�1/ ����$; 

- -"�1�"  ���%%"%��� $�%6-"��1/ 0����$1/ $1/�2�1/ �����2� U1…U4 ��  �%"$1/ 
����#������/ V1...V4. � ��$%"��" ����#������0� ���+"��$%�"��� � "���%��10� 0�����/"-
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0�0� D1 � D2. �� $1/�2" �%6-"$1/ �����2�$ $�%6-"�1 LC-:�%���1 $1����3�  ���2��, 
�!"� "-�$�6+�" $12"%"��" ��#��-�������. �����$%�6+".; 

- ����$1. 8���, $�%6-"��1. $ �" � $1/�2��3� ����; 
- 0��8��!���6+�. 2�::"�"����%��1. ���%��"%� D12, :��0���6+�. �� ��9"��" �!-

�����. �$�#�,  �� �������%���" $1/�2��0� ����; 
- �/"0� � �"2"%"��� � ��2������ ��������� ��#�1$� ��3��#�� �  "�"3�"$� D5; 
- �/"0� �3����-"��� 0�+����� (D9),  ���"!%�"0�. �� !%���  ������  � �" � +5 �; 
- �/"0� $�%6-"��� ����$��3� ����-���� (V10...V14),  ���6+���� �� 2"9����3� ����--

����; 
- ���!�%�#����1 �� ��9"��� 2%�  ������ ���%�3�$�. �/"01 D10 � D11. 
2.6.4 ���%��"%� �!�����. �$�#� ���$��$�"� $/�2��. ��3��% � ��3��% �!�����. �$�#�, 

 ���� �6+�. �� 2�::"�"����%���3� ���%��"%� D6. �%� �!"� "-"��� ����.-�$���� $�". 
����"01 ���!�%�#���� $1/�2��3� ���� $ �!�����6 �$�#� � "��������3� ���%��"%� D3 $�%6-
-"�� ���"3����6+"- �� �������%���� �" �-�� R10, C5, C6, ������� $%��"� �� -�������6 
/�����"�������  �"�!��#�$��"%� $ �!%���� -����� $18" 300 5�. �%� $1��$��$���� -�������. 
/�����"������� $ -�������0 2�� �#��" 2� 1 �5�  ��0"�"�1 ����"�����6+�" �" �-�� R5, 
C2 � R12, C7, C8. ������.��  ���#$�2���� �"#������0 R13. �"3�%���$���" �0"+"��� ���%�-
�"%� �8�!��  ���#$�2����  �"#������0 R8. 

2.6.5 �� ��9"��",  �2�6+"" �� ����$�0 8���", ���%�$�"��� 2�::"�"����%��10 ���-
%��"%"0 D7. �3� ��,::���"�� ���%"���  �����$%�"�  ��!%�#��"%��� � = 2.5 � �"3�%���"��� 
�"#������0 R52. 5%�$��. ���!"������6 ,��3� �����2� �$%�"��� � ���!�����  "�"2�$��� � 
0���0�%���.  �3�"8�����6 « %�$�6+""» �� ��9"��" � 8���� �� $1/�2, « ��$�#���1.» � 
�!+"0�  ��$�2� (�!"� "-�$�"��� ��"2��"��"0 $/�2� «REF» 0�����/"01 D6 � �!+�0  ��$�-
2�0).  

2.6.6 ���%"���" �� ��9"��" �8�!��  ���� �"� �� $/�2 ��0 �������, $1 �%��6+"3� 
��%� = �)-0�2�%�����, -"�"#  �%"$�. ����#����� V4. � ���0�%���0 ��������� �� ����1�, � 
� ��$%�6+"" �� ��9"��"  ���� �"� �� 0�2�%���� !"# ��%�!%"���. � �"/ �%�-��/, ��32� 
0�+����� (���),  ���"!%�"0�� �� ����-����  ������ ( � 8��" +5 �), �����$���� �%�8��0 
!�%�8�. ( �"$18�"� 30 �),  ����/�2�� #� �����"  �%"$�3� ����#������ �, ����$"���$"���, 
�3����-"��" = �). ��3��% �3����-"��� 0�+����� $1��!��1$�"��� ��0 �������0 D9. � ��-
-"��$" 2��-��� ���� (����$�3� 8���� R39) �� �%�#�"���  "-���1.  ��$�2���. 	���3 ���!�-
�1$���� ��0 ������� ������$%�$�"��� �"#������0 R41. 	�� ���!��1$���� ����"01 �3����-
-"��� 0�+����� $�%6-�"��� �$"��2��2 V13 («Lim»). 

2.6.7 � �"2"%"��" ���������  "�"3��#�� $1/�2�  ���#$�2����  � ���$�6 �� $1/�2" 
���%��"%� �8�!��. 	�� $1/�2" ,��3� �� ��9"��� #�  �"2"%1 2�� �#��� �� 0���� 3.75 2� 
+3.75 �  ����/�2�� $�%6-"��" �$"��2��2� D7 («OL»). 

2.6.8 � �"2"%"��" ���������  "�"3�"$�  ���#$�2���� ��0 �������0 D5.3. ���-���0 
 "�"3�"$� �%�9�� �"�0��"#����� A1, ��� �%�9"��1. $!%�#� $1/�2�1/ ����#������$. ��32� 
�� ����$%"��" �"�0��"#������ ( ��0"�"� �"�0��"#����� � �������"%��10 �"0 "������10 
��,::���"���0  ���2�� 0���� 3…4% / º�) ���9�"��� � �����$���� 0"��8" �� ����$%"��� 
�"#������ R26, $�%6-�"��� ��2������ V8 («OT»). �"0 "������ ���!��1$���� �����$%�"� ���-
%� +70…80ºC. 

2.6.9 	�����"  �"�!��#�$��"%� ���+"��$%�"��� �� �0 �%����3� !%���  ������ � ,%"�-
�����10 � ��$%"��"0. 	�� $�%6-"��� �"�"$�3�  ������ �� $1/�2"  X3:9 !%���  ������  �-
�$%�"��� �� ��9"��" +5 � �� «2"9����3�» ����-����. 
�� �� ��9"��"  ���"� �/"0� � ��$-
%"��� !%���0  ������ �� ����#�����" V12. 	�� #�01����� ��� �� S3 ,��� ����#����� ��-
��1$�"��� � � "3� ��%%"����� ��#��. ���$"��  �2�"��� $ !%��  ������ (��3��% «��%6-"-
��"»). ��%� ��� �� �2"�9�$�"��� 2������-�� 2�%3�, �� ����-��� �� "$�"� $�%6-����� � -"-
�"# �"#����� R33 �� !�#� ����#������ V12  ���� �"� �� ��9"��", �2"�9�$�6+"" "3� $ ��-
��1��0 ���������, � !%��  ������ $�%6-"��10. 	�� #�01����� ��� �� S4 ����#����� V12 
#� ���"��� � ���%6-�"� !%��  ������. 
��  ����/�2��, "�%� ��� �� �2"�9�$�"���,  ��� �" 
��#��2���� !%�����6+�" ���2"������1 (�" 0"�"" 1 �). ��������" ��%�-�� «2"9����3�» ��-
 ��9"��� ���!��9�"� �$"��2��2 V14 («Line»). ��������" ����$��3� !%���  ������ ���!��-
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9�"��� �$"-"��"0 2��2� V11, $�%6-�6+"3��� %�3�-"���0 ���$�"0,  ��/�2�+�0 �# !%��� 
 ������ (��3��%�0 «OK»). 
��� ��3��% ��/�2���� $ $1����0 ���$�", "�%� $�" $1/�2�1" 
���$�� ��/�2���� $ 2� ����01/  �"2"%�/. 	�� �"�� ��$����� �2��3� �# ����%�$ !%���  �-
�����, �!��%�$%"���. �"2� ����010 ���9"��"0 $1/�2��3� ���$��, �$"��2��2 V11 ��-���"� 
0�3���. 	�� #��-��"%���0 �$"%�-"��� 0�+����� (����),  ���"!%�"0�. �� �"��, !%��  ������ 
0�9"� ���%6-����� ��0������"%��� $����"��". �/"0�. #�+��1. 

2.6.10 ��" 0�2�%� $1/�2�1/ �����2�$ U1…U4 $�%6-"�1  ���%%"%��� �  ���6��� �� 
2$�/ 8��: +5 � � +12 �. �  "�$�. 8��"  �2�%6-"�1 $1/�2�1" ����#�����1 V1…V4, �� $��-
��.  ���6��� 0�����/"01 2��.$"��$ D1, D2. ��#��-�������� �����$%�6+�� $12"%�"��� 
��"/�����2�10 :�%����0 L1…L6, C18…C73. 	�2�$%"��" $1����-������1/  �0"/,  ���9-
2�"01/ ��2����$�����6 ����"�$����,  ���#$�2���� �" �-��0� R17, C14, R19, C16, R18, C15 
� R20, C17. �"#����� R21  �"2���$%�"� 2� �%���"%���6 ��3��#�� ���%��"%� �  �"2��#��-"� 
2%� ���9"��� 2�!�������� LC-:�%���� �  �2�$%"��� ��%"!���. �� -�����" ��"#�. 

 
3 �%�
�
��  %��
�4��5
�
���  %������ 
 
3.1 )!�1 �������#$!��� � �$�� � 3��"�� 
 
3.1.1 )"�1 �� ����$%"��� (0.01; 1; 10 � 100 �0) � !%�� ��3��#��, $/�2�+�" $ �����$ 

��0 %"���  ��!���, �0"6� �/"01,  ���#���1" �� ������" 3.1. 	"�"-"�� ,%"0"���$,  ��0"-
�"��1/ $ �/"0" !%��� ��3��#��,  ��$"2"� $ ��!%��" 3.1. 

 
��!%��� 3.1 – 	"�"-"�� ,%"0"���$ !%��� ��3��#�� 

 
	�#�������" 
�!�#��-"��" 

���0"��$���" ��%�-"-
��$� 

C1 
C2 
R1 
R2 

R3...R5 
R6 
R7 
R8 
R9 

R10 
R11 
X1 

X2...X6 
X7 

X8, X9 
X10 

���2"������ �10-62-150  <±10%-)	�  ��0.460.217 �� 
���2"������ �73-17 630 �-0,47 0�<±10 %-�  ��0.461.104 �� 
�"#����� �2-23-0,5-3.3 ��0±10 % �-�   ��0.467.081 �� 
�"#����� �2-23-2-2.4 ��0±10 % �-�   ��0.467.081 �� 
�"#����� �2-23-2-3 �0±10 % �-�   ��0.467.081 �� 
�"#����� �2-23-2-750 �0±10 % �-�   ��0.467.081 �� 
�"#����� �2-23-2-20 ��0±10 % �-�   ��0.467.081 �� 
�"#����� �2-23-2-330 ��0±10 % �-�   ��0.467.081 �� 
�"#����� �2-23-2-20 ��0±10 % �-�   ��0.467.081 �� 
�"#����� �2-23-0,5-3.3 ��0±10 % �-�   ��0.467.081 �� 
�"#����� �2-23-2-20 ��0±10 % �-�   ��0.467.081 �� 
��#"��� ��50-73-<� ��0.364.008 �� 
�%"00� �)��.  
��#"��� ��50-73-<� ��0.364.008 �� 
�%"00� �)��.  
��#"��� ��50-73-<� ��0.364.008 �� 

1 
1 
1 
1 
3 
1 
1 
1 
1 
1 
1 
1 
5 
1 
2 
1 
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������� 3.1 – �/"01 ,%"����-"���"  ����� ��%��1" !%��� ��3��#�� � 0"� �� ����$%"��� 

 
 
4 ���������� � ��6	������� %������ 
 
4.1 ��*�! �� " ��� �� � $����#�! (� $����# ��7) ������  
 
4.1.1 �  ��!��" �4-11  ��0"�"�� ��:��$�� ��%�!��$�� (��%�!��$���"), $1 �%��"0�� 

!"# "3� $���1���. )"��21 ��:��$�. ��%�!��$��  ��$"2"�1 $ ��#2"%" 11  "�$�. -���� ��-
����+"3� ����$�2��$�  � ,�� %������� (�)��.411182.011 �
, -���� 1). ��%�!��$���"  ��-
$�2���� $ �� ��$��0  ��!��" � �$%�"��� ����$�10 ,%"0"���0 $�������$%"��� "3�  �%��. 
��!���� ���!�����  ��%" �"0����. 

�  ��!��" �0"6��� � ��3��1 ���%�3�$�. ��%�!��$�� (�"3�%���$��) - $ �/"0�/ !�#�$�. 
 %��1, $1����$�%����3� ���%��"%�,  %��1 ��2������ �  �"�!��#�$��"%� 	��-50. 
�� ,%"-
0"��1,  �"2��#��-"��1" 2%� ��-�%���. ������$�� �"9�0�$ �/"01,  ������.�� ��%�, :��0�-
��$���� #�2����. ��& ���%��"%". (2"%��"%".) � �. . 	�����-"��� �"�!/�2�0���� $ �/ �"3�-
%���$���� $�#����"� ��%���  �� $1 ���"  ��!��� �%� #�0"�" ,%"0"���$. )"��21 ���%�3�-
$�. ������.�� � �"3�%���$�� � ����1 $  .4.4 ������+"3� 2���0"���. 
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4.1.2 	�� ��%�!��$�"  ��!��� �%"2�"� �-��1$��� �"�����1" ���!"������ ��3���#���� 

�7�: 

- ������%� � 2��3������� �� ��$����� 2���1/ 
�7� $1 �%��6���  �� $�%6-"��� 
 ��!��� �  �� #� ��� $ 
�7� ��%�!��$�-�1/ �������� $ /�2" ��%�!��$��,  �,��0� ���!+"-
��� �! �8�!��/ (�0.  .10.2.2 �)��.411182.011 �
, -���� 1) 0�3��  ��$����� ��%��� $ ,��/ 
�%�-��/; 

- 2%� $�������$%"��� 2���1/ $ 
�7� �"�!/�2�0�  ��$"��� ��%�!��$��  ��!���. 	�� 
,��0 ��9�� �0"�� $ $�2�, -�� 2�9" �" �%��� ��%�!��$�� $�������$%�$�"�  ��#���� �� ��$-
����� 
�7� (������%���6 ��00�). 	�,��0�  �� ��%�!��$�" �"�!/�2�0� $�"�"��" $�"/ ��-
%�!��$�-�1/ �������� ($1 �%�"��" $�"/ 8�3�$). 	�� �" �%��. ��%�!��$�" $0"��� �"$�"-
�"��1/ �������� #� ��1$�6��� ������%�#���$���1" #��-"��� - "2���-�1. 0��8��!�1. ��-
,::���"�� �%� ����6���  �"9��". 

� � � ) � � � �! �%�  �"2��$��+"��� #� ��� �8�!�-�1/ 2���1/ $ 
�7� $  ���"��" 
��%�!��$�� �" �%"2�"� 2� ������ $1�%6-"���  ��!���, � ���9" �"�!/�2�0�  ����0��� 0"�1 
 � ���9"��6 $"��������� �!�"$ �"�"$�3�  ������. 

�����"%"0 2���1/ ��%�!��$�� �$%�"��� 0����������%%"�  %��1 ��2������, � �!;"�-
��0� ��%�!��$�� �$%�6��� ���%�3�$1"  %��1. ����0 �!��#�0, ��%�!��$�� ��� ��������"��� 
�� ��0 %"�� $"�� ��0 %"��  %�� (!%���$). 7�0"�� 2�9" �2��.  %��1 ����8�"� ��%�!��$�� 
 ��!���. 

4.1.3 �  ��!��"  �"2��0���"�� $�#0�9����� �-��1$���� � $$�2� 2���1/ 
�7�. 
�� 
 �#$�%�"� �� ����$" #� ��". $�������$��� 2���1"  �� $1/�2" �# ����� 0�����/"01 0����-
������%%"�� (�%� #�0"�"  %��1 ��2������) !"#  ��$"2"��� ��%�!��$��. 	���2�� �-��1$�-
��� 2���1/ 
�7� � ���� $  �2��#2"%"  .4.2,  ���2�� $$�2� #��-"��. �������� - $  �2��#2"-
%"  .4.3. �  .4.3 ���9" � ����  ���2�� �-����� (������%�#����) 
�7�. 

4.1.4 	��!�� �4-11 ��%�!��"���  ��"0 �$��0���-"���3� $1-��%"��� � #� ��� $ 
�7� 
��:��$1/ 0��8��!�1/ ��,::���"���$. ����"0� ��:��$�. ��%�!��$��  �����"�� �� �%"-
2�6+�/  ����� �/: 

- !�#�$�. �$%�"��� ��%�!��$�� ��%� � ����3� 
�	. 7��-"��" ,��3� ��%�!��$�-��3� ��-
,::���"���  ��0"��"��� $� $�"/ �%�-��/ ������$�� $1/�2��3� ���$��; 

- $� $�"/ �%�-��/ ���9"  ��0"��6��� 0��8��!�1" ��,::���"��1 ���$�� � ����3� ��-
 ��9"��� 
�	  ��  �%�9��"%���. � �������"%���.  �%�������/ (��2"%��1" ��,::���"�-
�1). ��� �� �%�#�6��� $� $�"/ �%�-��/ ������$�� $1/�2��3� ���$��. ��  "�"0"���0 ���" 
 ��0"��"��� ��,::���"��  �%�9��"%���.  �%�������; 

- �� $�"/  �"2"%�/ $�� ���#$"2"��� $1/�2��3� �� ��9"��� � ����  ��0"��6��� ��-
2"%��1" 0��8��!�1" ��,::���"��1. 	��-"0, $ �"9�0" �0 %���2��. 0��� �%����  ��0"-
�"�1 ��!��$"��1" 0��8��!�1" ��,::���"��1, �"#�$���01" �� 0��8��!�1/ ��,::���"���$ 
���%�3�-�1/  �"2"%�$ ���0�%���3� �"9�0� ��!��1; 

- �-���"���, -�� ���%��"%� �%� 2"%��"%� �!�����. �$�#� �" �0"6� -�������.  �3�"8-
����� �%� ��� �"#��-��"%��� � �0""�  �"2���#�"01. /�����"� ( �2;"0 �%� � �2) � 0�3�� /�-
����"��#�$����� ��%��� �2��0  ���0"���0 – ��,::���"���0 «���%���» ��&. 	��-"0, «��-
�%��» ��&, � �"2"%�"01. �"�2"�%������6 ,%"0"���$ 2"%��"%". �%� ���%��"%".,  �$%�"��� 
 ���0"���0 ����������$�10 � �" �#0"��6+�0�� $  ���"��" ,�� %�������. 	�,��0� ��%�!-
��$�� «���%���» ��&  ���#$�2���� ���'��  �� $1 ���" �%� �� ���%���0 �"0���"  ��!�-
�� (,�� ����"0�1" ��%�!��$��). �%� ��0 "������ -�������.  �3�"8����� («���%���»)  ��-
0"��"��� 0"��2 -�������.  �� �������%���-�$�2����-��. ����"���� ( �%���0�0 $����. 
��" "��). �  �0�+�6  �%���0� ��%���  � �2��. ��%�!��$�-��. ��-�" (�"0��3� ��9" $"�/-
�". ��!�-". -�����1) $1-��%�"���  � ��$�� 2%� $�"3� -�������3� 2�� �#���, ������� ��-�-
��"� #�0"��� 2".��$�$���, ��-���� � 3-5 �5�; 

- �"/��%�3�-"���� ��%�!��$�� ������$�� -�����1 ����"#�����  "�"0"���3� �������-
2�%���3� ��3��%�. 
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4.2 
,��1# ��! � $����#�,�1/ ����� �� &
8	 
 
4.2.1 ��%�!��$�-�1" ��������1 0�3�� !1�� $1$"2"�1 �� ��2������  ��!���. ��� 

 �"2���$%"�1 $ $�2" !"#��#0"���3� ��,::���"���, �����1. $1-��%�"��� ��� ����8"��" �"-
��+"3� ���$�� � "3� ��0���%���0� #��-"��6 �� 2����0 8�3" ��%�!��$��.  

4.2.2 	���0��� ���+"��$%�"��� $ �"9�0" $$�2� ��%�!��$�-�1/ #��-"��.. �%�  ��-
�0���� #��-"��� ��%�!��$�-�1/ �������� �"�!/�2�0� $1 �%���� �%"2�6+�" � "�����: 

- ��9��� ��� ��   Shift  �  V  ; 
- $$"��� ��"/#��-�1. ��2-�%6- - -��%� 411. ��!�� ��2�  ���#$�2���� ��� ��0� ��:��-

$�3� $$�2�  4  ,  1  �   1  � ���"�$�%�0 �" !�%"" 2,5 � 0"92� ��9����0�; 
- "�%� ��2 $$"2"�  ��$�%���, �� �� ��2������"  ��!���  ��$%�"��� ���!+"��" $1!���  

��%�!��$�-��3� 8�3�; 
- ��9���"0 ��� ��  ⇐  («�0"��8"��" ��0"�� 8�3�») �%�  �    («�$"%�-"��" ��0"�� 

8�3�») $1!���� �"�!/�2�01. ��0"� 8�3� ��%�!��$��; 
- ��9��� ��� ��   Enter   (« �2�$"�92"��" ��%�!��$��») - �� ��2������"  ��$%�"��� 

��0���%���" #��-"��" �� ��9"��� � -�����1 $ ��-�" ��%�!��$��; 
- ��9��� ��� ��    ⇐    (��� ��  ���!�"��"� #��-"��" « ���#��� #��-"��" ��%�!��$�--

��3� ��,::���"���») - �� ��"��". �����" ��2�������  ��$���� #��-"��" ��,::���"���, � �� 
 �%" �� � 2���1/ (� ��$�) ���#��"%� $1$�2�0�. ��������1 «Kdcal». 
�� -��%� 0�9"� !1�� 
#� ����� (�� ��0"�, $ :��0�%��), � $ ��%"2��$�� 0�9"� !1�� $$"2"�� 2%� $�������$%"��� 
��%�!��$�-��3� ��,::���"���. ���0���"! ��%�!��$�-��" #��-"��" ���!��9�"��� ��%��� $ 
�"-"��" 2.5 - 3 �, � #��"0  ��!�� $�#$��+�"��� $ �"9�0 �9�2���� �"2������$���� $1/�2�; 

- 2%� $�#$���� $ �"9�0 $1!��� ��0"�� 8�3� ��%�!��$�� �"�!/�2�0� ��9��� ��� �� 
 Clr   («��0"��»). 	�$�����" ��9���" ��� ��  Clr   ��$�2�� � $1/�2� �# �"9�0� ��%�!��$��. 

 
4.3 �,����  � #���� ��#$!��! � $����#�,�1/ ����� �� &
8	 
 
4.3.1 ��%�!��$�-�1" ��������1 0�3�� !1��  �%�����6 ��"��1 �  �0�+�6 � "����� 

�-����� 
�7� ( �� ,��0 !�2�� #� ����1 ��/�2�1" #��-"��� ��%�!��$�-�1/ ��,::���"�-
��$). �-����� 
�7� � #� ��� ��/�2�1/ #��-"��. (������%�#����) $1 �%��"���  �� #�0"�" 
0�����/"01 ,�"�3��"#�$���0�.  �0���. �%�  �%��. ������%�#���� 
�7� �"�!/�2�0� ��-
9��� ��� ��   Shift     � ���921  9  (999 - ��2 ������%�#����). ��%� ��2 $$"2"�  ��$�%���, �� 
��2������" 2�%9��  ��$����� ���!+"��" «Init_EEPROM» � 2$�9�+�.�� ��2������  ���"�-
��$ #� ��� � �-��1$���� 2���1/. 
 4.3.2 ��%�!��$�-�1" ��������1 0�3�� !1�� -����-�� ��"��1 �  �0�+�6 � "����� �-�-
���� �!%���� ����"0�1/ �������� – �������� -�������. ����"���� ��&. �%� ,��3� �"�!/�-
2�0� ��9��� ��� ��  Shift   � ���921  5  (555 - ��2 ������%�#����). ��%� ��2 $$"2"�  ��-
$�%���, �� ��2������" ���9" 2�%9��  ��$����� ���!+"��" «Init_EEPROM» � 2$�9�+�.�� 
��2������  ���"���$ #� ��� � �-��1$���� 2���1/. �����-��6 �-����� 
�7� �"�!/�2�0�  
 ��$�2��� 2%� ��3�, -��!1  ��$�%��� ��������� �" � -�������. ��0 "������ 2"%��"%". �!-
�����. �$�#�. 

4.3.3 ��%�!��$�-�1" ��������1 0�3�� !1�� $�������$%"�1 �� ����$���� ���"" �2"%��-
�1/ #� ��". � $$"2"�1 $  ���"��" ��%�!��$��. �%� $$�2� #��-"��� ��%�!��$�-�1/ �������� 
�"�!/�2�0�  ��$"��� �%"2�6+�" � "�����: 

- ��9��� ��� ��  Shift  �  ExCal . �� ��2������" 2�%9��  ��$����� ���!+"��" 
«Calibr_of_Scale»; 

- $$"��� ��"/#��-�1. ��2-�%6- - -��%� 411. ��!�� ��2�  ���#$�2���� ��� ��0� ��:��-
$�3� $$�2�  4  ,  1  �   1  � ���"�$�%�0 �" !�%"" 2,5 � 0"92� ��9����0�; 

- "�%� ��2 $$"2"�  ��$�%���, �� �� ��2������"  ��!���  ��$%�"��� #��-"��" ��%�!��-
$�-��3� ���$�� 8�3� «OK» � ���!+"��" $1!��� 8�3� ��%�!��$�� «Calibr_of_Scale» (�� $��-
��. �����") � «Cal_Step_N=00»  (�� ��"��". �����"); 
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- ��9���"0 ��� ��  ⇐  («�0"��8"��" ��0"�� 8�3�») �%�  �    («�$"%�-"��" ��0"�� 
8�3�») $1!���"��� �"�!/�2�01. ��0"� 8�3� ��%�!��$��; 

- ��9��� ��� ��  Enter  (« �2�$"�92"��" ��%�!��$��») - �� ��2������"  ��$%�"��� ��-
0���%���" #��-"��" ���$�� � -�����1 $ ��-�" ��%�!��$��, � ���9" 2��3�/  ���0"���$, �!�-
#��-�6+�/ ��%�!��"01. �"9�0; 

- �"9�0 �"2������$���� � �������0 $ ���.�".  ��$�.  �#���� �9" $�%6-"�. ���+"��-
"0 ��2�$�3�  "�"�%6-��"%� ���"2������$��� $1/�2��. ���$"�� ����0 �!��#�0, -��!1  �� 
��9���� ��� ��   ⇐  (« ���#��� ��%�!��$�-��6 ���������») ��2�����$�%��� ��"!�"0�" #��-
-"��" (#� ������" ���""). ���  ��$�%�, $$�2 $�#0�9"� ��%��� 0"��2�0  ��%"2�$��"%��1/ 
 ��!%�9"��. (�#0"���� –  ��0���"�� �� �"#�%���� – ���$� �#0"���� – � ���  ��0���"��); 

- 2%� $�#$���� $ �"9�0 $1!��� ��0"�� 8�3� ��%�!��$�� �"�!/�2�0� ��9��� ��� ��  Clr  
(«��0"��»). 	�$�����" ��9���" ��� ��  Clr   ��$�2�� $1/�2� �# �"9�0� ��%�!��$��. �$�2 
��%�!��$�-�1/ ��������  �#$�%�"� $�������$��� 0"���%�3�-"���" /�����"�������  ��!��� 
!"#  ��$"2"��� �#0"���"%��1/ � "����.. �� ��0"�,  �� #�0"�" ��2��������.  %��1 �%� $ 
�%�-��/, ��32� $ ���%�3�$�. -����  ��!��� �"  ���#�8%� ��+"��$"��1" �#0"�"���. 

 
4.4 �!3�$���#�  ������   
 
4.4.1 �%�  ��$"2"��� �"3�%���$�� �"�!/�2�0� ����� $"�/�66 ��18��  ��!��� �4-11, 

�!"� "-�$ 2����  � ,%"0"���0 �"3�%���$��. �����"0 $"�/�". ��18�� �!"� "-�$�"��� 2��-
��  � � ,%"0"���0 �"3�%���$��  �"�!��#�$��"%� 	��-50. ��� �%�9"��" ,%"0"���$ �"3�%�-
��$��  ���#��� �� �������/ 4.1 – 4.3. �"3�%���$��  ���#$�2���� $ ����$"���$�� � ���#����-
0� ��!%��1 4.1. 
 
��!%��� 4.1 – 	���0"��1 ���%�3�$�. �"3�%���$�� 

 
�"9�0 ��%�!��$�-��� 

��-�� 

%"0"��  

�"3�%���$�� 
������$%�$�"0�" 

 #��-"��" 
)"��2��� 
��%�!��$�� 

� "�# � �$ �  
DCV, «M0» 0 �, DC R87 �� $1/�2": 0±100 0��  .4.4.2 

DCV 0 �, DC R95, R97 �� �"#������/ R105, 
R106 (�%� R107, R108): 

60-100 0� 

 .4.4.3 

DCI 0 0�, DC R119, R121 ��� 50-100 0� -"�"# 
V34,V35 

 .4.4.3 

DCI 100 0�, DC R116 �#0"�"��" ���� �� $1-
/�2" �" !�%"" ±0.01 0� 

 .4.4.4 

DCV 0 �, DC R147 �� $1/�2": 0±20 0��  .4.4.2 
ACV, «M0» 10 �, 20 �5� C71 �� $1/�2": 10 �±0.1 %  .4.4.5 

ACI 1000 0�, 10 �5� C86 �� $1/�2": 1 �±0.2 %  .4.4.5 
ACV 10 �, 20 �5� C108 �� $1/�2": 10 �±0.1 %  .4.4.5 
ACV 100 �, 20 �5� C111 �� $1/�2": 100 �±0.2 %  .4.4.5 
ACV 200 �, 1 �5� C116 �� $1/�2": 200 �±0.1 %  .4.4.5 

%$ �  #1����#�$.���3� ���$��!$� 
DCV 100 �, DC 

#��"0 $ �"9�0" 
«FREdit» 0 �, DC 

R14, R16 �� �"#�����" R24 (�%� 
R25): 40-70 0� 

 .4.4.3 

DCV 100 �, DC R33, R40 �� ���2"�������/ 
C17 � C20: 

+280±5 � � -280±5 � 

 .4.4.6 

ACV, «M0» 100 �, 20 �5� C4 �� $1/�2": 100 �±0.2 %  .4.4.5 
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	��2�%9"��" ��!%��1 4.1 
 

�"9�0 ��%�!��$�-��� 
��-�� 


%"0"��  
�"3�%���$�� 

������$%�$�"0�" 
 #��-"��" 

)"��2��� 
��%�!��$�� 

%$ �  ��2�� ��� 
- - R27 ���%�-8�� ���������-

����� � �3�% �!#��� 
- 

%$ �  ��!��� "�# �!$� %
�-50 
DCI, 

«	��-50» 
0 0�, DC R1 ������� �� C10: 

150 -175 �5� 
 .4.4.7 

DCI, 
«	��-50» 

0 0�, DC R8 �� $1/�2" 	��-50: 
0±5 0� 

 .4.4.8 

ACI, 
«	��-50» 

20 �, 1 �5� R13 �� $1/�2" 	��-50: 
20 �±0.3 % 

 .4.4.5 

ACI, 
«	��-50» 

50 �, 1 �5� R41 �� $1/�2" 	��-50: 
�" 0"�"" 2 � 

 .4.4.9 

DCI, 
«	��-50» 

20 �, DC R52 �� $1/�2" 	��-50: 
20 �±0.1 % 

 .4.4.10 

 
 

 
 

 
������� 4.1 - ��� �%�9"��" ,%"0"���$ �"3�%���$�� �� !�#�$�.  %��" 
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������� 4.2 - ��� �%�9"��" ,%"0"���$ �"3�%���$�� ��  %��" $1����$�%����3� ���%��"%� 

 

 
 

������� 4.3 - ��� �%�9"��" ,%"0"���$ �"3�%���$�� ��  %��"  �"�!��#�$��"%� 	��-50 
 
4.4.2 ������$�� �� ��9"��� �0"+"��� (��%�) ��#��$�%����3� $1/�2��3� ���%��"%� 

 ���#$�2���� �"#������0 R87* !�#�$�.  %��1. �%� ��3� -��!1  ��$�%��� ���"3�%���$��� 
�0"+"��", �"�!/�2�0�: 

- ������$��� $1/�2��" �� ��9"��" 0 � $ �"9�0" $�� ���#$"2"���  ��������3� �� ��-
9"���. ���0" ,��3� �"�!/�2�0� ������$��� �"9�0 �0 %���2��. 0��� �%���� «M0» 2%� ��-
�%6-"��� ���%��"%� �# ����"01 �$���"3�%���$����. 	��!��  "�"2 ,��0 2�%9"� !1��  ��-
3�"� �" 0"�"" 5 0��;  

-  �2�%6-��� $�%��0"�� �7-64/1 � $1/�2� ��%�!������ �  ���#$"��� ������$�� ��%� � 
�"�!/�2�0�. ��-�����6 (�0. ��!%��� 4.1). 

���%�3�-��  ���#$�2���� ������$�� ��%� ��#��$�%����3� ���%��"%� �!�����. �$�#� 
(�"#������0 R147). 	�� ,��0 �"�!/�2�0� ���%6-��� �"9�0 �0 %���2��. 0��� �%���� 
«M0» ( �2�%6-��� ����"0� �$���"3�%���$���� $1/�2�).  

 
 
 
 
                 
* � �0���"01" #2"�� � 2�%"" ,%"0"��1 ,%"����-"���/  ����� ��%��1/ �/"0  ��$"2"-

�1 � � ����1 $ ����$"���$�6+�/ ��#2"%�/ ������+"3� ����$�2��$�  
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4.4.3 �"3�%���$�� ��-�%���3� ���� $1/�2�1/ ����#������$ ��#��$�%����3� ���%��"%� 
 ���#$�2���� �"#������0� R95 � R97. ���!1  ��$�%��� ������$��� ��� -"�"# ����#�����1, 
�"�!/�2�0�: 

- ������$��� $1/�2��" �� ��9"��" 0 � $ �"9�0" $�� ���#$"2"���  ��������3� �� ��-
9"���. 	�� ,��0 ��� ��3��#�� ��$"� ��%6 � �" $%��"� �� ��-����� ������$�� ����; 

-  �2�%6-��� ��#�� ��"����%��1. $/�2 $�%��0"��� �7-64/1 � $1/�2��. �%"00" «Vhi», 
��"2��"���. � $1/�2�0 ���%��"%�, � $1���� ��"����%��1. $/�2 $�%��0"���  ��-"�"2�� 
 �2�%6-�"��� � ������0 ����#������$ V19, V20 � $1/�2� D43.6. ����0 �!��#�0 ������%���-
"���  �2"��" �� ��9"��� �� �"#������/ R105, R106, R107, R108 � R102 ����$"���$"���; 

- �"#������0� R95 � R97 ������$��� ����" ��-�%���" �0"+"��",  �� ������0 ��-�%�-
�1. ��� $1/�2�1/ ����#������$ ��/�2���� $  �"2"%�/ �� 7 2� 10 0� ( �  �2"��6 �� ��9"-
��� �� �"#������/ R105, R106 � R107, R108 – $  �"2"%�/ 60-100 0�). 	�� ,��0 2�%9�� �!"�-
 "-�$����� 0���0�%���" �� ��9"��" �� �"#�����" R102 – ,�� ��%�$�" ��00"�����$����. �"-
3�%���$���" $"2"��� 0"��2�0  ��%"2�$��"%��1/  ��!%�9"��.; 

- 2������-����� ������$%"���3� #��-"��� ��-�%���3� ����  ��$"��"���  �� �#0"�"��� 
��,::���"��� 3��0����  �� $1/�2��0 ���$�" 3-10 � -������. 30 �5�. ��%� ��,::���"�� 
3��0����  �"$18�"� 2� ����"0�" #��-"��", - ��-�%��1. ��� $1/�2�1/ ����#������$ 0�9"� 
!1�� �$"%�-"� 2� 15 0� ( �2"��" �� ��9"��� �� �"#������/ R105, R106 � R107, R108 ��-
���$%�"� 200 0�). 

���%�3�-��  ���#$�2���� �"3�%���$�� (�"#������0� R14, R16) ��-�%���3� ���� $1/�2-
�1/ ����#������$ $1����$�%����3� $1/�2��3� �����2�. 	�� ,��0 �� ��9"��" ������%���"�-
�� �� �"#������/ R24,  R25 � R20. ������$%�$�"0�"  �2"��" �� ��9"��� �����$%�"� 40 -  
- 70 0�. ���!1 ������$��� �� $1/�2" ��%�!������ 0 �, DC, �"�!/�2�0�: 

- $��-�%" ������$��� 100 �, DC – $�%6-�"��� $1����$�%���1. ���%��"%�; 
- $�%6-��� �"9�0 �"2������$���� � :������$���10  �"2"%�0 («FREdit») ��9���"0 

��� ��  Shift  �  ∆  ; 
- ��� ��0�  "�"2$�9"��� ������� � $��+"��"0  "�"�%6-��"%� 2�!����� $1/�2��3� 

�� ��9"��� 0 �, DC.  
	�2�0�10 9" �!��#�0  ���#$�2���� ������$�� ��-�%���3� ���� ����#������$ V34, V35 

$1/�2��3� �����2� $�� ���#$"2"��� ����. 7��-"��" ���� ������$%�$�"���  � �0 %���2" 
 �%�����. �� $1 ��0��"%"  ������ $1/�2��3� �����2� (+6 � � 0���� 6 �). ��� ������$%�$�-
"��� �%"2�6+�0 �!��#�0: 

- ������$��� �� $1/�2" ��%�!������ #��-"��" $1/�2��3� ���� 0 0�, DC �  �2�%6-��� 
��3��#�� 1 �0; 

-  �2�%6-��� ��#�� ��"����%��1. $/�2 $�%��0"��� �7-64/1 � $1/�2��. �%"00" «I hi», 
��"2��"���. � $1/�2�0 ���%��"%�, � $1���� ��"����%��1. $/�2 ����0 �!��#�0, -��!1 ���-
���%���$���  �2"��" �� ��9"��� �� �"#�����" R124; 

-  �2�%6-��� $/�2 ����%%�3��:� � #���1�10 $/�2�0 � ����� ����#������ V34; 
- �"3�%���$��� (�"#������0� R119, R121) ��-�%���" �0"+"��" $1/�2�1/ ����#������$, 

-��!1 2$�.��� �0 %���2�  �%�����. �� $1 ��0��"%" !1%� $  �"2"%�/ �� 25 2� 45 0� (0.5 � 
�� 1 � -������. 100 5�), �  �2"��" �� ��9"��� �� �"#�����" R124 �"  �"$18�%� 0.2 �. 

4.4.4 �"3�%���$�� $1/�2��3� �� ����$%"��� $ �"9�0" $�� ���#$"2"��� ��%1 ����  ��-
�#$�2���� !�%������$��. ����8"��� �"#������$ �!�����. �$�#�. �%�  ��$�%���. !�%����-
��$�� �"�!/�2�0�: 

- $�%6-���  ��!�� $ �"9�0 $�� ���#$"2"���  ��������3� ���� 100 0�; 
-  �2�%6-��� �� $1/�2 ��3��#��, ������+�6 �# 0"�1 �� ����$%"��� 1 �0 � 2�!�$�--

��3� �"#������ �� ����$%"��"0 10 �0 (0�9�� �� �%�#�$��� 2��3�6 0"�� �� ����$%"���); 
-  �2�%6-��� $�%��0"�� �7-64/1 � 0"�" �� ����$%"��� 1 �0; 
- #�:������$���  ���#���� $�%��0"��� ��9���"0 "3� ��� ��  ∆  ; 
- #��������� 2� �%���"%��1. �"#�����. ��%� �#0"�"��" �� ��9"��� �� 0"�" �� ����$-

%"���  �"$18�"� ±50 0��, �� �"�!/�2�0�  �2����.�� $1/�2��3� �� ����$%"���. �"3�%���� 
�"#������0 R116, #�01��� � ��#01��� 2� �%���"%��1. �"#�����, �"�!/�2�0� 2�!����� ��3�, 
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-��!1 �#0"�"��" �� ��9"��� �� 0"�" �� ����$%"���  �� �#0"�"��� $1/�2��3� �� ��9"��� 
�� 1 � �"  �"$18�%� ±20 0��. 

4.4.5 ������.�� -�������. /�����"������� ��#��$�%����3� ���%��"%�  ���#$�2���� 
 �2����"-�10 ���2"�������0  ��"0 �#0"�"���  ��������. $�"0"�� �" � �!�����. �$�#�. 

"%�6 2����. �"3�%���$�� �$%�"��� ������$%"��" �� $1����. -�����" ����3� 9" $1/�2��3� 
���$��, ��� � �� ��#��/ -������/. ��-8" $�"3� ,�� 2"%��� �%"2�6+�0 �!��#�0: 

- ������$��� $1/�2" ��%�!������  "�"0"���" �� ��9"��" 10 � -������. 1 �5� $ �"9�-
0" «M0» ( �� ���%6-"���. ����"0" �$���"3�%���$���� $1/�2�); 

-  �2�%6-��� �� $1/�2�1" �%"001 $�%��0"�� �7-64/1, $�%6-"��1. $ �"9�0" �#0"�"-
���  "�"0"���3� �� ��9"���.  

- #�:������$���  ���#���� $�%��0"��� ��9���"0 "3� ��� ��  %  ; 
- ������$��� �� $1/�2" -������ 20 �5� � �"3�%���$��. ���2"������� C71 2�!����� ��3� 

9" ���$�� (��%"$1/  ���#���. � #�2����. ��-�����6), -�� � �� -�����" 1 �5�; 
-  ��$"���� -�������6  �3�"8����� �� -������/ 10 � 30 �5�. ��� �" 2�%9�� !1�� 

!�%�8", ���#����. $ ��!%��" 4.1. 	�"2 �-���"%���, -��!1 -��������  �3�"8����� !1%� 0�-
�������., �2��3� #���� �  �� �������%���. -�����" �%� �$�2���� -�����1. �2��$�"0"��� 
2����� �"3�%���$�� �!"� "-�$�"� ������$%"��" 2������-��3� #� ��� ����.-�$���� $1/�2��-
3� ���%��"%�. ����"��"0 /���8". ����.-�$���� 0�9"� �%�9��� �" ��%��� �������$�" ��0�-
$�#!�92"���, �� � ��#��. ���$"�� ��!��$"��1/ $1����-������1/ 8�0�$. �%�  ��$"��� ��-
��.-�$���� ���%��"%� �� $1/�2 ��%�!������  �2�%6-�"��� ����%%�3��:.   

���%�3�-�� �"3�%���"��� -�������� /�����"������� $1����$�%����3� ���%��"%� (���-
2"�������0 �4), $1/�2��3� �����2� $�� ���#$"2"��� ���� (���2"�������0 C86) �  �"�!��#�-
$��"%� 	��-50. 	��-"0, 2%� ��%�!������ ���� !�#�$�3�  ��!��� (2� 2 �) -�������� /�����"-
������� �"3�%���"��� $ -�������0 2�� �#��" ��%��� 2� 12 �5� ( ��$"��"��� %��".����� $ 
-������1/ ��-��/ 1, 3, 5 � 10 �5�), � 2%� 	��-50 - ��%��� 2� 1200 5� ( ��$"��"��� %��".-
����� $ -������1/ ��-��/ 100, 500 � 1000 5�). �  ��%"2�"0 �%�-�" (2%� 	��-50) -�������� 
/�����"������� $1��$��$�"��� �������"%��� ���$�� 100 5�. ��3��#��. ��%�!������$ ���� 
!�#�$�3�  ��!��� � 	��-50  �� ������.�" ��& 2�%9�1 �%�9��� 0"�1  "�"0"���3� ���� �# 
��0 %"���  ��!��� � ��0���%��10 �� ����$%"��"0 1 �0 � 0.01 �0 ����$"���$"���. 

���%�3�-�� ������.�" ��& $1/�2�1/ ���%��"%". �"3�%���"��� ��& 2"%��"%". �!-
�����. �$�#� (���2"�������0� C108, C111 � C116). �%�  ��$�%���. �"3�%���$�� �"�!/�2�0� 
$1�%6-��� �"9�0 �0 %���2��. 0��� �%���� � �-������ ����"0�1" ��������1 ��:��$�. 
��%�!��$��. 	��-"0, -�������� /�����"�������  �"2"%� «600 V» $1��$��$�"��� �������"%�-
�� ���$�� 100 5�. 

4.4.6 ������.�� $1/�2��3� �� ��9"��� ���!�%�#�����$  ������ $1����$�%����3� ���-
%��"%�  ���#$�2���� �"#������0� R33, R40. ���!1  ���#$"��� ������.��, �"�!/�2�0� ����-
��$��� �� $1/�2" ��%�!������ %6!�. ���$"�� $18" 20 �, �� ��0"�, 100 �, DC. 	�� ,��0 
$�%6-����  �����" $1����$�%����3� ���%��"%�. ������$%�$�"01. ���$"�� �� ��9"���  �-
����� ������%���"��� $�%��0"���0 �7-64/1,  �2�%6-�"010 $ %6!�6 ��-�� �� $1/�2" ���-
!�%�#�����$. �� ��0"�, �2�!��  �2�%6-����� � ��������0 �����$ (0"��%%�-"���0� ����$�-
��6) ����#������$ V7 ( �%�9��"%���" �� ��9"��") � V10 (�������"%���" �� ��9"��") �%� 
$1$�2�0 �"#������$ R35 � R38. 	���0"��1 �"3�%���$��  ��$"2"�1 $ ��!%��" 4.1. 

���)����! ��!%62�.�" 0"�1 !"#� �������. 	�"2$����"%��� ������$%�$�.�" ($��--
��6) �� $�%��0"��" �7-64/1  �"2"% «1000 V». 

4.4.7 ������� = �)  �"�!��#�$��"%� 	��-50 ������$%�$�"��� �"#������0 R1 �  �0�-
+�6 ����%%�3��:�,  �2�%6-�"0�3� � ���2"������� �10. �"�!/�2�0� ������$��� 2%��"%�-
�����  "���2�  �%��!��#��3� �� ��9"��� #��-"��"0 (6.5 ± 0.5) 0��. 
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4.4.8 �0"+"��" ���%��"%� 	��-50 �"3�%���"��� �%"2�6+�0 �!��#�0: 
- ������$��� �� $/�2"  �"�!��#�$��"%� ���, ��$�1. ��%6. �%� ,��3� 2������-�� ���%6-

-��� $/�2; 
-  �2�%6-��� �� $1/�2  �"�!��#�$��"%� 0"�� �� ����$%"��� 0.01 �0, � �  ��"����%�-

�10 $1$�2�0 0"�1 $�%��0"�� �7-64/1, $�%6-"��1. $ �"9�0" �#0"�"���  ��������3� ��-
 ��9"���; 

- ���"3�%���$��� �"#������0 R8 �0"+"��" ����0 �!��#�0, -��!1 �� ��9"��" �� 0"�" 
�� ����$%"��� �"  �"$18�%� ±50 0�� (±5 0�); 

-  �2��� �� ��%�!������ �4-11 ���$�� +1 � � 0���� 1 � � �!"2����� $ ��0, -�� �"��0-
0"���� �� ��9"��� (����) �"  �"$18�"� ±100 0�� (±10 0�). ��%� ��� !�%�8", �"�!/�2�0� 
"+" �����"�����$��� �0"+"��" ��%�. 

4.4.9 	���3 ���!��1$���� �/"01 �3����-"���  ���"!%�"0�. 0�+����� ������$%�$�"��� 
�"#������0 R41 �%"2�6+�0 �!��#�0: 

-  �2�%6-��� �� $1/�2  �"�!��#�$��"%� 0"�� �� ����$%"��� 0.01 �0; 
-  �2�%6-��� $�%��0"�� �7-64/1, $�%6-"��1. $ �"9�0" �#0"�"���  "�"0"���3� ��-

 ��9"���, � $1/�2�10 �%"00�0  �"�!��#�$��"%� 	��-50; 
- ������$��� �� $1/�2"  �"�!��#�$��"%� ��� I$ #��-"��"0 25 �, 100 5�: 
- �#0"���� �� ��9"��" U$ �� $1/�2�1/ �%"00�/ (,�� #��-"��" � �-"��0  �2"��� ��-

 ��9"��� �� ��"2����"%��1/  ��$�2�/). �1-��%��� #��-"��" $1/�2��. 0�+����� P, $12�-
$�"0�.  �"�!��#�$��"%"0 $ 2���1. 0�0"��  � :��0�%" (4.1): 

 
I�U�P ⋅=  (4.1) 

 
- �#0"���� $�%��0"���0 �7-64/1  ��������" �� ��9"��" U 0"92� ��9��0 $1$�2�0 �"-

#������ R37 � %"$10 $1$�2�0 �"#������ R40 ( � �/"0"). 
��  �2"��" �� ��9"��� �� �����-
�����$��0 ����$�0 8���" R38; 

- $1-��%���  ���3�$�" �� ��9"��" U   � :��0�%" (4.2): 
 

P
UU�

180⋅=
 

(4.2) 

 
-  �2�%6-��� $�%��0"�� �7-64/1  ���%%"%��� �"#������ R40 � �"#������0 R41 ������-

$��� $1-��%"���" #��-"��" �� ��9"���, ������" !�2"� ����$"���$�$���  ���3� ���!��1$�-
��� #�+��1  �� 2����9"��� 0����0�%���. $12�$�"0�. 0�+����� (�  ���"!%�"0�. ��9"). 

4.4.10 ��,::���"��  �"�!��#�$���� ������$%�$�"��� �%"2�6+�0 �!��#�0: 
-  �2�%6-��� �� $1/�2  �"�!��#�$��"%� 0"�� �� ����$%"��� 0.01 �0, � �  ��"����%�-

�10 $1$�2�0 0"�1 $�%��0"�� �7-64/1, $�%6-"��1. $ �"9�0" �#0"�"���  ��������3� ��-
 ��9"���; 

-  �2��� �� ��%�!������ �4-11 ���$"�� +2 � � �"#������0 R51 ������$��� �� ��9"��", 
����$"���$�6+"" ���� 20 � � �-"��0 2".��$��"%���3� #��-"��� 0"�1 �� ����$%"���. �#0"-
����  �%������� $/�2��3� �� ��9"��� � �!"2����� $ ��0, -�� ������$%"���" #��-"��" ��,:-
:���"���  "�"2�-� �!"� "-�$�"�  �%�-"��" �"�!/�2�0�3� �� ��9"��� �� 0"�" �� ����$%"-
��� (� ��-�����6 ±100 0��). 	�� �"�!/�2�0���� �����"�����$��� ��,::���"��  "�"2�-�; 

-  ��$"���� ��,::���"��  "�"2�-�  �� $/�2��0 �� ��9"��� +1 � (����$"���$�"� $1-
/�2��0� ���� +10 �), 0���� 1 � (0���� 10 �), +5 � (+50 �) � 0���� 5 � (0���� 50 �). 	�� 
 ��$�%���. ������.�"  �3�"8����� $�� ���#$"2"��� ���� �" 2�%9��  �"$18��� ±0.1 %  �� 
$�"/ ���#���1/ #��-"���/ $1/�2��3� ����.  
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�
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5.1 ��*�! �� " ��� 
 
5.1.1 ������+�. ��#2"% ��2"�9�� �$"2"���, �"�!/�2�01" 2%� ������"��� ��2"%��1/ 

�%� �"#��-��"%��1/ �"�� ��$����"., $�#0�9�1/  �� ,�� %�������. �� ���%��1. �"0��� 
 ��!��� � #�0"��. ,%"0"���$ �����������,  "-���1/  %��, $����"���3�  ��3��00��3� �!"�-
 "-"��� 2�%9"� $1 �%������ �#3���$��"%"0 �%� � "���%�#���$���10� �"0����10�  �"2-
 ������0�. 

5.1.2 	�� �"0���"  ��!��� �%"2�"� ��!%62��� 0"�1 !"#� ������� � #�+��1  ��!���, 
�#%�9"��1" $  .5.2. 

5.1.3 	��!�� �"  �2%"9�� �"0���� $ �%�-��/: 
- "�%� ��!%62�6��� #��-��"%��1" 0"/���-"���"  �$�"92"��� 2"��%". � �#%�$, �����1" 

�" 0�3�� !1�� #�0"�"�1 #� ���10�; 
- "�%�  ���#�8%� ��#��8"��� 2"��%". � 0����9�,  ��$"28�" � ����8"��6 �#�%���� � 

 �" ����$�6+�" !"#� ����. ,�� %�������  ��!���. 
 
5.2 )!�1 �!"�� ������ � " *��1 ������  
 
5.2.1 	� ��" "�� #�+��1 ��  ���9"��� ,%"����-"���0 ����0  ��!�� �4-11 ��������� � 

�%���� II  � 5��� � 51350-99 � 0�9"� ,�� %������$�����  � �"#�#"0%"��10 ��� ���0. *%�� 
 �"�!��#�$��"%� 	��-50 ��������� � �%���� I  � 5��� � 51350-99 � 2�%9"� ,�� %������-
$����� ��%��� � #�+���10 #�#"0%"��"0,  �2�%6-�"010 -"�"# �"�"$�6 $�%��. �  ����$��0 
�%�-�" �� $/�2�1/ � $1/�2�1/ �%"00�/ !�2"� 2".��$�$��� � ���1.  ��"����% ���%� 110 �, 
50 5� �������"%��� #"0%�. ��%� �"#�#"0%"��1. !%�� 	��-50  �2�%6-"� � ��%�!������  
�4-11, �� � ����" �� ��9"��"  ��$%�"��� � �� "3� $1/�2�1/ �%"00�/. 

5.2.2 7� �"+�"���  �2�$���: 
- ��  $1/�2  ��%�!������  (��#�� ��"����%��1" �%"001)  �� ��9"��"  !�%"" 700 �  

(1000 � �0 %���2��3�) �������"%��� #"0%� ( ���6+". �"��)  �� ��%�$��, -�� !%�� 	��-50 
���%6-"� � �" �� �%�#�"���; 

-  �2�%6-��� $/�2 � $1/�2  �"�!��#�$��"%� 	��-50 � #�#"0%"��10 �����.��$�0;  �2-
�%6-��� $1/�2 ��%�!������ �4-11 � #�#"0%"��10 �����.��$�0  ��  �2�%6-"���0 � �"0� 
 �"�!��#�$��"%" 	��-50; 

-  �2�$��� �� $1/�21 ��%�!������ �  �"�!��#�$��"%� 	��-50 ��3��%1 �� 2��3�/ ��-
��-����$; 

-  �2�$��� �� ���%6-"��1. $/�2  �"�!��#�$��"%� 	��-50 �� ��9"��" �0 %���2�. !�-
%"" 350 �. �%� ,��3� �"�!/�2�0� ���%6-��� ��!"%�  �"�!��#�$��"%� �� ��%�!������ �4-11 
 �� ������$�" �� ��9"��. �$18" 200 �; 

-  �2�$��� �� $�%6-"��1. $/�2  �"�!��#�$��"%� 	��-50 �� ��9"��" �0 %���2�. !�-
%"" 100 �; 

- $�%6-��� $1/�2��. ��� !�%"" 32 �  �"�!��#�$��"%� 	��-50 �� $�"0� !�%"" 5 0��, 
���!"���  ��  �$18"���. ����9�6+". �"0 "�����". 

5.2.3 �" �"��0"�2�"���: 
- #�01���� ��������� $1/�2 ��%�!������ �� ��9"���, ���!"���  �� $�� ���#$"2"��� 

$1����3� �� ��9"���. ��"0� ���!��1$���� #�+��1 �� �������/ #�01����. �  "�"3��#��  � 
���� �����$%�"� 2�%� �"���21. �� ���%6-"��� $1/�2��3� �� ��9"��� $1/�2��. ��� �3����-
-�$�"��� ��%���  ���0"���-"��� (0�9"� 2����3��� 300 0�); 

- $�%6-��� !"# �"�!/�2�0����  �"�!��#�$��"%�, ���!"��� ���  �� ���%6-"���. ��-
3��#�" (�!�����. �$�#�), ��� � $ ��������� #�����-"���3� $1/�2�. �  "�$�0 �%�-�"  �� ��#�-
�$���1/ $1/�2�1/ �%"00�/  ����/�2��  "�"3�"$ 2"0 :���6+�/ �"#������$ :�%����. �� 
$����0 - $�#0�9��  ��$%"��" ��0�$�#!�92"��� � �"������%���"0�3� ��0���#�3�"$�. � ��-
0�%���� ��3��#��  �"�!��#�$��"%� 	��-50 �����$%�"� 0.01 – 0.05 �0; 
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- ��2�%3� $�%6-��� �"9�01 0����0�%���. ��3��#��, ���!"���  ��  �$18"���0 ��-
 ��9"��� $ �"��,  �$18"���. ����9�6+". �"0 "�����" � #����2�"���. $"���%����. ��-"-
����" ���#���1/ �"!%�3� �����1/ :������$ � ���!��$�"�  "�"3�"$�, �����1.  ��$�2�� � 
���9"��6 ��2"9����� � �"���!�%������ ������$%�$�"01/ ���$�".. 

5.2.4 ����-����0� � ����3� �� ��9"��� 220 �, 50 5� $  ��!��" �$%�6��� �"�"$1" �"-
 �: $1$�21 �"�"$1/ �����:��0�����$, $1$�21 �"�"$�3�  �"2�/�����"%�, �"�"$�. $1�%6-�-
�"%�, �"�"$�. ��#;"0-:�%��� � ,%"�������" �"%" ��  %��" $1����$�%����3� ���%��"%�.  

	�� ������$%"���0 �� $1/�2" �� ��9"��� �$18" 20 � ��  %��" $1����$�%����3� ���-
%��"%�  ��$%�6��� � ���1" ���$�� �� ��9"���  ��������3� �  "�"0"���3� ����: 

- �� ��9"��"  ������ $1/�2��3� �����2� 2� 320 �  ��������3� ����; 
- $1/�2��" �� ��9"��" ���%��"%� 2� 250 � (�0 %���2��"); 
- $1/�2��" �� ��9"��"  ��%"  �$18�6+"3� �����:��0����� 2� 900 � (�0 %���2��") � 

�� $1����$�%����0 $1 ��0��"%". 
����-����0 � ����3�  �� ��9"���  �"�!��#�$��"%� 	��-50 �$%�"��� $�� �/"0� $ �%�-

-�" �������$�� #�#"0%"���. ��" �"�"$1" �" � ��� �%�3�6��� $����� �0 �%����3� !%���  �-
�����. �%� "3� �"0���� ��"!�6��� ���!1" 0"�1 !"#� �������. 

5.2.5 � �/"0�/  ��!��� �4-11 �  �"�!��#�$��"%� 	��-50  �������$�6� 0�+�1" ����--
����  ������,  �,��0� $1/�2 �/ ����� �/"0,  ���6+�/�� �� ,��/ ����-����$, 0�9"� !1�� 
 ��-���. ��#��8"���  ��$�2����$, ��%���3�  "�"3�"$� �%� $�#3������. 

5.2.6 �" ��$�%���� ������$�� ��-�%���3� ���� ����#������$ $1/�2�1/ �����2�$ 0�9"� 
!1��  ��-���.  "�"3�"$� !%���$  ������ � ��%�$1/ �����:��0�����$.  

5.2.7 �  �%�#�$���6  ��!���0 0�3�� !1�� 2� �+"�1 %���, ���"���$���1" 2%� ��!��1 � 
�� ��9"��"0 2� 1000 �,  ��8"28�" ���������9 � 0"��/ !"#� �������  �� ��!��" � ��2��-
�#0"���"%��10�  ��!���0� � �#�-�$8�" ������+"" ����$�2��$�  � ,�� %�������. 

 
5.3 %!�!,!�. ��!2��# �"0!�!��� � ������$� 
 
5.3.1 	��  ��$"2"��� �"0���� 2�%9�� !1��  ��0"�"�� �  ������� � /�����"�������0�, 

���#���10� $ ��!%��" 5.1. ��%� $  ���"��" �"0���� ��"!�"���  ��$"2"��" ��%�!��$��  ��-
!���, �"�!/�2�0� $�� �%�#�$����� ���#����0�  � $1!��� �  ������1  .11.5 -���� 1 ������-
+"3� ����$�2��$�. 

 
��!%��� 5.1 – 	"�"-"�� ��"2��$ �#0"�"���, �"�!/�2�01/ 2%� �"0���� 

�� �%�#�"01"  ���0"��1 ���0"��$���" 
� ��  

��#��-"��" 
<������ � 2�� �#�� (����$��.  ���0"��) 	�3�"8����� 

����%%�3��:  
�1-114/1 

	���� �"�� ��$-
����".  � $�"0"�-
�10 2��3��00�0 

	�%���  �� ������� 0 - 50 )5�, 
-�$��$��"%������ �� 5 0�/2"% 2� 5 �/2"% 

 
±5 % 

)�%���0"��  
�7-64/1 

	���� �"�� ��$-
����".  � �"9�-
0�0 $ ������%�-
�1/ ��-��/ � 
« ��#$����» ,%"-
0"���$ � ,%"����-
-"���/ �" ". 

�#0"�"��": 
-  ��������3� �� ��9"��� �� ±10 0�� 2� 
±25 �; 
-  "�"0"���3� �� ��9"��� �� 1 0� 2� 
600 � -������. 10 5� - 33 �5�; 
- ��%1  ��������3� ���� 2� 2 �; 
- �� ����$%"���  ��������0� ���� �� 
0 �0 2� 10 )�0; 
- -�����1 �� 10 5� 2� 10 �5� 

 
±0.01 % 

 
±0.1 % 

 
±0.5 % 

±0.05 % 
 

±0.01 % 
	 � � 0 " - � � � � 
1 ��#�"8�"���  ��0"���� 2��3�" 0"�1 � �#0"���"%��1", �!"� "-�$�6+�" �#0"�"��" 

����$"���$�6+�/  ���0"���$ � ��"!�"0�. ��-�����6. 
2 ��"2��$� �#0"�"��� 2�%9�1 !1��  �$"�"�1 $ ��3���/ 3���2����$"���. �%� $"2�0��-

$"���. 0"���%�3�-"���. �%�9!1 $ ����$"���$�� � 	� 50.2.006-94. 
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5.4 	��� �!��! �!���� #����!- 
 
5.4.1 	"�"2 �"0����0  ��!��� �"�!/�2�0� �#�-��� ������+"" ����$�2��$�  � ,�� %��-

�����. 	"�"-"�� /�����"��1/ �"�� ��$����"., ���#����  � �/  ����� � ������"��6  ��$"-
2"�1 $ ��!%���/ 5.2 � 5.3. 

5.4.2 	��  ����" �"�� ��$����". �"�!/�2�0� �0"�� $ $�2�, -�� $ ���0�%��� :������-
����6+"0  ��!��"  �������� ��!���6� 0����������%%"�1, �2��$�"0"��� $1 �%��� �"-
���%��� � "����.: 

- ��92�" ��9���" ��� �� �%� $��+"��" ��2�$�3�  "�"�%6-��"%� $1#1$�"� �#0"�"��" 
��������� ��2�������. ��%�  �2����� �  "�"2�".  ��"%� ��0��2� $1#1$�"� �#0"�"��" $1-
/�2��3� ���$��, ��  �  ��%"2�$��"%���0� ���"�:".�� $ ���%�3�$1. !%��  "�"2�"��� ����-
$"���$�6+�� ��0��2�. <��0�� ��0��2 ����$"���$�"�  ��$"2"��10 $ ��!%��" 2.1. �/ 0�9�� 
��!%62��� � �0�����$��� �  �0�+�6 ��0 �6�"��, ����+"���3�  ��3��00�. ,0�%����� �"�-
0���%�. ��9�� ��%���  �#�!������� � ��3%���$���� %�3�-"���/ ���$�". (0 - 5 �) � ���$�". 
���"�:".�� RS-232C (±12 �); 

- ��92�" ��9���" ��� �� �� ��$�92�"��� 3"�"����". #$���$�3� ��3��%� � -������. 
���%� 2 �5�; 

- 2���1" $  ��%"2�$��"%��1. ����% $12�6��� $ $�2"  �-�� �0 �%���$; 
- ��!%62�� ����%%�3��:�0 $1 �%�"��" #�3��#�� ����"#����� � 
�	, ��3��%�$ � ��$-

%"��� �"%" � ,%"������10� �%6-�0�, 0�9�� �2"%��� #��%6-"��" �! �/ �� ��$�����; 
- ��!%62��  ��/�92"��" ���%�3�$�3� ��3��%�  � �" �-�" �� 
�	 � $1/�2�  ��!���, 

0�9��  ��������%���$��� ��!���� ���!����� 0��3�/ �#%�$  ��!��� (���%��"%"., :�%����$, 
 �"�!��#�$��"%".). 

5.4.3. 	���� �"�� ��$����". $ ���%�3�$�. -����  ��!���  ���#$�2����  �� $�%6-"��� 
�"��!���6+"3� �"9�0� ������%"0  ��/�92"��� ( �"�!��#�$����) ��3��%� $ �����" �!��!��-
�� �  �0�+�6 $�%��0"��� �%� ����%%�3��:� � � �"2"%"��� �#%� �%� ,%"0"���, �" ��$�%��� 
$1 �%��6+"3� �$�6 :�����6. 

5.4.4 	�� � �"2"%"��� �"�� ��$����� �%"2�"� �0"�� $ $�2�, -�� -�+" $�"3� �"�� ��$-
����� $�#����"� $ ���0"�"" ��2"9�1/, ���!�%"" ��3��9"��1/ �%� !�%""  �2$"�9"��1/ 
$�"8��0 $�#2".��$��0 ,%"0"���/. ����$10� $ �/"0"  ��!��� �$%�6���: 

- ��%��� ��3��9"��1" ,%"0"��1 ����-����  ������ – ��%�$1" �����:��0����1, $1-
 ��0��"%��1" 2��21, ���2"������1 :�%����, ���!�%�#����1 �� ��9"���; 

- $1/�2�1" �����21 ($1/�2�1" ����#�����1) ��#��$�%����3� ���%��"%�, ���%��"%� ��-
�� � $1����$�%����3� ���%��"%�, � ���9" $1����$�%���1" ���!�%�#����1; 

- $�" ��#;"0�1" ��"2��"��� � �"%", ��00�����6+�" !�%�8�6 0�+�����; 
- 0"/���-"���" �����.��$�. � 2����0 �%�-�" ��� ��,  "�"�%6-��"%� �, ���!"���, �/-

%�92�6+�. $"���%����, �����1. ��!���"�  ��������; 
- $ �/"0" 	��-50 – $1/�2�1" ��00�����6+�" ����#�����1 � �0 �%���1. !%��  ���-

���. 
5.4.5 �0 �%���1. !%��  ������,  ��0"�"��1. $  �"�!��#�$��"%" 	��-50, ���%�3�-"� 

��0 �6�"���0�. 	��0"�"��1. !%��  ������ �"�!/�2�0� ����0����$��� ��� 3���$�"  ��� -
��" �#2"%�". �3� �"0��� �� ��9"� � 2� �%���"%���. � �������6  ���9"��� ,%"����-"���0 
����0 ("3� �/"0� 3�%�$���-"��� �$�#��� � �"��6) � ��"!�"�  ��0"�"��� � "���%���3� �!���-
2�$����. 	�,��0� �"��0"�2�"���  �� $1/�2" �# ����� !%��� #�0"���� "3� ��$10. �%� #�0"�1 
 �� �"0���" 0�9�� �� �%�#�$��� %6!�. !%��  ������, ����$"���$�6+�. ����2���� ATX ( � 
 ����"2����"%��10 ��#0"��0, �/"0" $�%6-"���, ��"!�$����0 !"#� �������) � 0�+�����6 
�" 0"�"" 400 �� (�"�!/�2�0�, -��!1 0����0�%��1. 2� ����"01. ���  � �" � «+5 �» !1% �" 
!�%"" 32 �). � #�0"��"0�3� !%���  ������ 0�3�� !1�� �2�%"�1 %�8��" $1/�2�1" ��#;"01 
(�" �� �%�#�"01" $1/�21 0�9�� �!�"#��� 2%� �%�-8"��� $"���%���� $ !%��"). ��%� $�%6-
-"��" ��$�3� !%���  ������ #����2�"�� (�0.  ��#���� �"�� ��$�����  .4 $ ��!%��" 5.3), �� 
�"�!/�2�0� �$"%�-��� "0����� ���2"������� «0�3��3�» #� ���� ��  %��" $����� !%���  ���-
��� (�� ��0"�, $�%6-"���3� 0"92� 4 � 14 $1$�2�0� 0�����/"01 ������%%"�� TL494 !%��� 
 ������).  
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5.4.6 � �"2"%"��" �"�� ��$����� $ -����  ��!���, ��!���6+". $ �����-"���0 �"9�0", 
 ���#$�2���� �  �0�+�6 $�%��0"��� �%� ����%%�3��:�. 
��0 � ���!�0 �2�!��  ��$"���� 
����-���  ������ � �" �  ������. � ��!%��" 5.4 ��2"�9���� 2���1", �����1" 0�3�� �!%"3-
-���  ���� �"�� ��$����".. � �". 2%� ��92�3� �"9�0� ��!��1 ���#1$�6��� �#%1, �����1" 
2�%9�1 !1��  ��$"�"�1, � 0"��2  ��$"���. 
 
��!%��� 5.2 – �"�� ��$�����  ��!��� �4-11 
 
��"8�""  ���$%"��" 

�"�� ��$�����  
�%� ""  ��#���� 

�"�������  ��-��� 
�"�� ��$����� 

 
)"��2 � �"2"%"��� �"�� ��$����� 

1 	��!�� �" $�%6-�"�-
�� � �" ��!���"� $"���-
%���� 

�"�� ��$����� �"�"$1/ 
�" ". 

�1�%6-��� �# �"�� �   ��$"���� �� ��$-
�����  �"2�/�����"%�, $1�%6-��"%� �"-
�"$�. �!0���� �����:��0����� 

2 �3���"�  �"2�/����-
�"%� 

�1/�2 �# ����� 2��2�$ 
�%� ���2"�������$ 
:�%���� $1 ��0��"%�, 
�2��. �# 0�����/"0 
���!�%�#�����$ 

«	��#$�����» 2��21 � ���2"������1. 
	� ��!�$��� $�%6-���  ��!��  ��  �-
��9"���0 �"�"$�0  ������ (��-���� �� 
~20 �) �  � 1������ ��.�� �"�� ��$�1. 
,%"0"�� �  �0�+�6 ����%%�3��:� 

3 �������$�"� ��2���-
��� 

�"�� ��$����� 0����-

�) ��2��������. 
 %��1 

	��$"����  �����" ��2��������.  %��1. 
	��$"����  �����"  ���"�����, ��!��� 
"3� 3"�"������  

4 ��2������ ���0�%�-
���, �� $1/�2 �"� ��$-
%�"0 

�"�� ��$����� 0����-

�) ���%�3�$�3� !%�-
��, �"  ��/�2�� � ��$-
%�6+�" ��0��21  

	��$"����  �����"  ���"����� ���%�3�-
$�3� !%���, ��!��� "3� 3"�"������. 	��-
$"���� ��!��� ����%� �$�#�. 	��$"���� 
2��3�" �#%1 ���%�3�$�3� !%���  

5 �� $1/�2"  ��$�%��� 
 ��������� �����$-
%�6+�� �%� :��0� ��-
 ��9"��� ��%��� ����-
9"��  

�"�� ��$����� $1/�2-
��3� �����2� �%� "3� 
����-����  ������  

	��$"���� �"9�01 $1/�2��3� �����2� 
��3�  �"2"%�, �� ������0 ��!%62�"��� 
����9"��" $1/�2��3� ��3��%� 

6 �3����-"��" �� ��-
9"��� ��  �"2"%"  
«20 V»  

�"�� ��$����� �/"01 
 �$18�6+"3�  �"�!-
��#�$��"%� �� ��9"��� 

	��$"���� ��!���  �$18�6+"3�  �"�!-
��#�$��"%�  �� ������$%"���0 $1/�2��0 
���$�" �� 2 2� 20 � 

7 �1/�2��� -������ �" 
����$"���$�"� #�2����. 

�"�� ��$����� #�2�6-
+"3� 3"�"������ 

	��$"���� -������ #�2�6+"3� 3"�"������ 

8 �1/�2��" �� ��9"-
��" �� �2��0 �#  �"2"-
%�$ �" ����$"���$�"� 
������$%"���0� #��-"-
��6 

1 �"�� ��$����� $1-
/�2��3� �����2� ,��3� 
 �"2"%�  
2 �"�� ��$����� $ �" � 
 �"�!��#�$��"%� �!-
�����. �$�#� 

1 	��$"���� �� ��9"��" �� $/�2" � $1-
/�2" ����$"���$�6+"3� ���%��"%� 
 
2 	���%"2���  ��/�92"��" ��3��%�  � 
�" � �!�����. �$�#� 

9 �1/�2��" �� ��9"-
��" �� $�"/  �"2"%�/ � 
�"9�0�/ �" ����$"���-
$�"� ������$%"���0� 
#��-"��6 

1 �"�� ��$����� � ��-
��3� ����-����  
 
2 �"�� ��$����� 0�2�-
%����� 

1 	��$"���� ��!��� � ����3� ����-���� 
� = �) 
�	 
 
2 	��$"���� ��!��� �  ��/�92"��" ��3-
��%� -"�"# 
�	 0�2�%����� 

10 �1/�2��" �� ��9"-
��" ��#��/ ���$�". 
$�� ���#$�2���� � 
�8�!��. 

1 ��0�$�#!�92"��" 
$1/�2��3� �����2�  
2 �0"+"��" ���%��"-
%". �!�����. �$�#� 

1 	��$"���� ����%%�3��:�0 :��0� $1-
/�2�1/ ��3��%�$ 
2 	��$"���� �� ��$����� ���%��"%"., ��-
�"3�%���$��� �0"+"��" 
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	��2�%9"��" ��!%��1 5.2  
 
��"8�""  ���$%"��" 

�"�� ��$�����  
�%� ""  ��#���� 

�"�������  ��-��� 
�"�� ��$����� 

 
)"��2 � �"2"%"��� �"�� ��$����� 

11 �1/�2��" �� ��9"-
��" �"���!�%��� �� 
$�"/  �"2"%�/ 

�"�� ��$����� ����--
����  ������ 

	��$"���� �� ��9"��" �  �%������ ��-
��-����$  ������ 

12 ��%��1. ��3�"$ ��-
2������ ����-����$ 
 ������ � $1/�2��3� 
�����2� 

1 �"�� ��$����� $1-
/�2��3� �����2� 
2 ��-�%��1. ���  �"-
$18�"� 2� ����01.  

1 	��$"���� ��!��� $1/�2��3� �����2� 
 
2 	��$"���� ���$"�� ��-�%���3� ���� 

 
��!%��� 5.3 – �"�� ��$�����  �"�!��#�$��"%� 	��-50 

 
��"8�""  ���$%"��" 

�"�� ��$�����  
�%� ""  ��#���� 

�"�������  ��-��� 
�"�� ��$����� 

 
)"��2 � �"2"%"��� �"�� ��$����� 


!���� #����� �0��$.���3� �$��  ��� ��� 
1 	��!�� �" $�%6-�"�-
�� � �" ��!���"� $"���-
%����, �" �$"����� �$"-
��2��2 «2"9����3�» 
�"9�0� 

�"�� ��$����� �"�"$1/ 
�" ". �0 �%����3� 
!%���  ������ 

�1�%6-��� �# �"�� �  ��$"���� �� ��$-
�����  �"2�/�����"%�, $1�%6-��"%� !%�-
��  ������ ($�����). �%�  ��$"��� !%��� 
 ������ �"�!/�2�0� ���%6-��� "3� �� 
 %��1  �"�!��#�$��"%�,  �2�%6-��� ��-
3��#�� �" 0"�"" 10 �� � $�%6-��� #�01-
����"0 %���� «PS_ON» �� �!+�.  ��$�2 

2 �3���"�  �"2�/����-
�"%� (�0 �%����3� !%�-
��  ������) 

�1/�2 �# ����� 2��2�$ 
�%� ���2"�������$ 
:�%���� $1 ��0��"%�, 
�%6-"$1/ ����#����-
��$ �0 �%����3� !%��� 
 ������ 

«	��#$�����» 2��21 � ���2"������1. 
	� ��!�$��� $�%6-���  ��!��  ��  �-
��9"���0 �"�"$�0  ������ (��-���� �� 
~20 �) �  � 1������ ��.�� �"�� ��$�1. 
,%"0"�� �  �0�+�6 ����%%�3��:�. *%�� 
 ������  �� ,��0 �"�!/�2�0�  ����� �� 
��#$�#1$�6+"3� �����:��0�����!  

3 �$"��2��2 «2"9����-
3�» �"9�0� �$"�����, � 
!%�� 	��-50 �" $�%6-
-�"��� 

�1/�2 �# ����� ����$-
��3� !%���  ������ 
�0 �%����3� ����-���� 


�� �%�9��� �"�� ��$����� 2%� "" �����-
�"���  ����� �"�!/�2�0� �!������� $ 
� "���%�#���$����6 ��3���#���6 


!���� #����� �$ �1 %
�-50 
4 �$"��2��2 «2"9����-
3�» �"9�0� �$"�����, � 
!%�� 	��-50 $�%6-�-
"��� �� �������" $�"0� 
� $1�%6-�"��� ��0�-
�����"%��� 

�"�� ��$����� �/"01 
 �"�!��#�$��"%�. 	�� 
$�%6-"��� �/"0� #�-
+��1 !%���  ������ 
�!����9�$�"�  "�"-
3��#�� � ���%6-�"� "3� 

���%6-��� !%��  ������ �  ��$"���� "3� 
� $�"8�". ��3��#��. 0�+�����6 �" 0"-
�"" 10 ��. 	��$"���� �� ��$����� ��%�-
$1/ �" ". «+5 �» � «+12 �» ��  %��" 
 �"�!��#�$��"%�. �%� ���%6-"��� $1-
/�2�1/ �����2�$ �"�!/�2�0� �2�%��� 
 "�"01-�� 
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	��2�%9"��" ��!%��1 5.3 
 
��"8�""  ���$%"��" 

�"�� ��$�����  
�%� ""  ��#���� 

�"�������  ��-��� 
�"�� ��$����� 

 
)"��2 � �"2"%"��� �"�� ��$����� 

5 ���%�3�-��  .4 �  �-
�$%�"��� #�01����" 
%����  ������ «5 �» 
 �� $�%6-"���  ���-
��� 

1 �1/�2 �# ����� �2��-
3� �# ����#������  ��1 
$1/�2�1/ ����#����-
��$ 
 
 
 
2 �"�� ��$����� 2��.-
$"�� � ��$%"���  �%"-
$10� ����#������0� 

1 �2�%��  "�"01-�� � ���%6-�$ 93�� 
$1/�2�1/  ��$�2�$ ��  %��1, � �"2"%��� 
�"�� ��$�1. �����2. � �"2"%��� �"��-
 ��$�1. ����#����� « ��#$����.» ��-
 ����$%"��� ����-�����. � �"�� ��$��3� 
����#������ ��� �����$%�"� 2�%� �0�. 
 
2 	�� ���%6-"���0  ������ $1/�2��3� 
�����2� (+5 �)  ��$"���� ���$�� ��3��-
%�$,  ���� �6+�/ �� 2��.$"��$ (�0 %�-
��2� �0 �%���$ 2�%9�� !1�� 0 - 12 �). 
��%� �0 �%��1 �������$�6� (����"  ��-
��/�2��  �� ��#�1$" �!�����. �$�#�), 
�"�!/�2�0� #�0����� �� �!+�.  ��$�2 
$/�2 ��0 ������� D4.2 (� ���  ��$����). 
	��  ��!�" $ �" � #��$��� �0 %���2� 
�0 �%���$ #��-��"%��� �0"��8�"��� � 
��-���"��� �-"�� ��%��1. ��3�"$ 0����-
�/"0 2��.$"��$, �����1"  ��  ��2�%9�-
�"%���.  "�"3��#�� 0�3�� $1.�� �# ����� 

6 ���%�3�-��  .4 � 
�0""��� #�01����" %�-
���  ������ «5 �» 

�1/�2 �# �����  ��1 
$1/�2�1/ ����#����-
��$   

�2�%��  "�"01-�� � ���%6-�$ 93�� $1-
/�2�1/  ��$�2�$ ��  %��1, � �"2"%��� 
�"�� ��$�1. �����2. �1/�2 �# ����� 
����#������$ �!1-�� �� ��$�92�"��� 
8������$���"0 $1/�2� 2��.$"��$. 

7 ��%6-"��"  ������ 
	��-50  ����/�2��, � 
$1/�2 �" � ��$%�"���. 
�1/�2��. ��� �"#��-�-
�"%��1.   

1 �"�� ��$����� �� 
$/�2". �� �"  �2�%6-
-�"��� 
2 �"�� ��$"� ����-��� 
 ������ �/"01 

1 	��$"���� ���$�� ��3��%�$ �� $/�2" 
 �"�!��#�$��"%� 
 
2 	��$"��� ���$�� !%���  ������ 

8 ��%6-"��"  ������ 
	��-50  ����/�2��, � 
$1/�2 �" � ��$%�"���. 
�1/�2��. ��� 0����-
0�%"�  

1 �"�� ��$����� $ �" � 
�!�����. �$�#� (�!���-
��� �$�#� ��#��$���) 
2 �"�� ��$����� 0�2�-
%����� (�0 �%��1 ��-
�����$�6�) 

1 	��.��  � �" � �!�����. �$�#�  � � -
�"2"%��� �-�����, �� ������0 $1/�2��. 
��3��% �" ����$"���$�"� $/�2��0� 
2 	��$"���� ��!��� 3"�"������, ��0 ���-
����, �����2� :�#����+" ��"%� � 2��.$"-
��$ 
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��!%��� 5.4 – �"9�01 ��!��1 �/"0  
 

�"9�0 	��$"��"01. �#"% )"��2  ��$"��� 
%$ �  ��2�� ��� 

���!�%�#����  ������. C5: +5 � ± 5 %  
��$"����  ������. C2: 0���� 5 � ± 5 % 

�#0"�"��" �"9�0�$  �  �-
�������0� ���� $ �" �/ 

1 �6!�. 

�/"0� ���"�:".��:  D8.9, D8.10, X2.1, X2.5 1 	�2�%6-��� ��0 �6�"� 
2 7� ������  ��3��00� *  
3 	��$"����  ��/�92"��" 
��3��%�$ �� $1/�2� �
�) 
(�� D4.10 2� X2.1) � �� $1-
/�2� ��0 �6�"�� 2� $/�2� 
 ��"0���� �
�) (�� X2.5 
2� D4.9) 

%$ �  � "�# � 
2 �1/�2:  +0 � ����-����  ������. 

C87: +8 � ± 20 % 
C88: 0���� 8 � ± 20 % 
C98: +5 � ± 5 % 
C99: +15 � ± 5 % 
C100: 0���� 15 � ± 5 % 
	�����" ��#��$�%����3� $1/�2��3� �����2�. 
D43.7: +13.2 � ± 5 % 
D43.4: 0���� 13.2 � ± 5 % 

�#0"�"��" �"9�0�$  �  �-
�������0� ���� $ �" �/, 32" 
�� ��9"��" �" #�$���� �� 
�"9�0� ��!��1 

3 �1/�2: +10 � 	�����" ��#��$�%����3� $1/�2��3� �����2�. 
D43.7: +40 � ± 3 � 
D43.4: 0���� (40 ± 3) � 

�#0"�"��" �"9�0�$  �  �-
�������0� ���� 

4 �1/�2: +0 � �0"+"��" $1/�2�1/ ����#������$. 
V19 � V34 (#��$��): +(2.5 – 4) � 
V20 � V35 (#��$��): 0���� (2.5 – 4.5) � 

�#0"�"��" �"9�0�$  �  �-
�������0� ���� 

5 �1/�2: 
~2 �, 1 �5� 

����� :��0���$���� ��3��%� � �!�����. �$�-
#�: ~(5 – 7) �; D19.11, D21.6, C48,  
D56.6: ~(6 – 7) �; D32.15: +(6 – 7) �;  
D33.1: 0���� (2.5 – 2.8) �;  
D38.6: 0���� (4 – 8) � 

�#0"�"��" �"9�0�$  �  �-
�������0� �  "�"0"���0� 
���� 

%$ �  #1����#�$.���3� ���$��!$� 
6 �1/�2: +33 � 	�"2$����"%��1" �����21. 

D1.6: 0���� 1 � ± 1 %; D3.1: ±0.05 �;  
D3.7: +33 � ± 1 % 

�#0"�"��" �"9�0�$  �  �-
�������0� ���� 

7 �1/�2: +0 � �0"+"��" $1/�2�1/ ����#������$. 
V8 (#��$��): +(2.5 – 4) � 
V9 (#��$��): 0���� (2.5 – 4.5) � 

�#0"�"��" �"9�0�$  �  �-
�������0� ���� 

8 �1/�2: +0 � 	�����" $1/�2��3� �����2�. 
V7 (#��$��): +(140 ± 20) � 
V10 (#��$��): 0���� (140 ± 20) � 
V7 (����): +280 � ± 10 % 
V10 (����): 0���� 280 � ± 10 % 
V22 (����): +320 � ± 20 % 
V10 (����): 0���� 320 � ± 20 % 

�#0"�"��" �"9�0�$  �  �-
�������0� ���� 

 



 
 

 

31 

 
 

	��2�%9"��" ��!%��1 5.4 
 

�"9�0 	��$"��"01. �#"% )"��2  ��$"��� 
%$ �  ��!��� "�# �!$� %
�-50 

����-����  ������. 
C21: +5 � ± 5 % 
C52: +12 � ± 5 % 
C53: 0���� 12 � ± 5 % 
C49: +5 � ± 5 % 
C50: 0���� 5 � ± 5 % 

�#0"�"��" �"9�0�$  �  �-
�������0� ���� 

����� :��0���$���� ��3��%�. 
D3.6: ±0.1 �; D4.2: ±0.1 �;  
D4.3:  �%� 150 �5�, �0 %���2� ±2.5 �;  
D4.7: �0 �%��1 150 �5�, ��$�9�����  
50 ± 10 %;  
D6.6 � D6.4: �0 �%��1 5 �, 150 �5�, ��$�9-
����� 40 � ± 10 %;  
U1-U4, D1.5 � D1.7: �0 �%��1 12 �, 150 �5�, 
��$�9����� 40 � ± 10 %;  
V2,V4 (����): �0 �%��1 5 �, 150 �5�, ��$�9-
����� 50 � ± 10 %;  
X6, X7: +2.5 � ± 10 %; D7.6: ±0.1 �  

�#0"�"��" �"9�0�$  �  �-
�������0� ���� � ��!%62"-
��" :��01 ��3��%�$ ����%-
%�3��:�0 

8 �1/�2: +0 �, 
��3��#��  
0.01 �0 

�/"0� $�%6-"���  ������. 
V10 (!�#�): +5 �; V12 (��%%"����):  
+(0.1– 0.5) �;  
R35 ($"�/��. $1$�2): +5 � 

�#0"�"��" �"9�0�$  �  �-
�������0� ���� 

* ���$��, �"�!/�2�01" 2%�  ������ �/"01 ���"�:".��,  ��$%�6��� ��%���  ��%" ���-
���%�#����  ��%"2�$��"%���3�  ���� ��0 �6�"��,  ����/�2�+".  �� #� ���" ��00�������-
����.  ��3��001 
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	��������� � 

/!0  +$!����,!�� � �������� $.� � � �!�!,!�. +$!0!���# � $��� ���  ���#!�� $.��3� 
4-11 

 

   

������� �.1 – �/"0� ,%"����-"����  ����� ��%���� ��%�!������ ���$"���%���3� �4-11 
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��!%��� �.1 –  	"�"-"�� ,%"0"���$ ��%�!������ ���$"���%���3� �4-11 
 
	�#. 

�!�#��- 
-"��" 

 
���0"��$���" 

 
��%. 

 
	��0"-���" 

�1 	%��� ���%��"%� $1����$�%����3� �)��.469135.128 1  
A2 	%��� !�#�$�� �)��.469135.130 1  
A3 	%��� ��2������ �)��.469135.131 1  
F1 ����$��  %�$��� �	2*-1�-2,0 � 250 � �> 0.481.005 �� 1  
)1 �"���%���� MJ451012 :."JAMICON" 1  
S1 ��0!%"� 	�73-2-2 �50.360.077 �� 1  
T1 �����:��0���� �)��.671111.057 1  
T2 �����:��0���� �)��.671111.058 1  
T3 �����:��0���� �)��.671111.059 1  
X1 ��%��  ��!����� KFA4301.5041 :. "SCHURTER" 1 � 2"�9��"%"0 

 �"2�/�����"-
%� � :�%����0 
(�� 1 �) 

&2…&4 ��#"��� PHU-4 3  
X5 �%"00� ��9"$�� (��#"���) 9-160583-2 :."�)�" 1  

&6,&7 ��#"��� PHU-4 2  
X8 ��"2����"%� �)��.685611.083-01 1 ��#"���  

IDC-24M, 
$�%�� FDC-24 
 

&9..&12 �%"00� ��9"$�� (��#"���) 9-160583-2 :."�)�" 4 6.35/0.8, 
�#�%���$����� 
��  ��$�2 1.5-
2.5 00 

X13 ��"2����"%� �)��.685611.083 1 ��#"���  
IDC-10M, 
FDC-10 

&14 ��#"��� HU-2   1  
X15 �%"00� ��9"$�� (��#"���) 9-160583-2 :."�)�" 1  
&16… 
…&19 

5�"#2� ��"2����"%���" &$4.835.010-05 4  

X20 ��"2����"%� �)��.685611.067 1 ��#"���  
IDC-10M, ��-
#"��� DI-9F 

 


